

Pay Estimate Created Date: September 30, 2021

Progress I	Estimate Number	Contract ID			Pay Period Start	September 16, 2021	16, Original Contract Amount \$4,627,3		
15		Prime Contractor	Capital Paving & Cons LLC	struction,	Pay Period End	September 30, 2021	Net Change Order Amount Current Contract Amour	\$236,273.36 nt \$4,863,615.31	
Approval Date								By User	
September 30, 2021			Generated and	Approved	(and should be con	sidered Draft) at tl	ne Project Office Level by	coram	
October 5, 2021			Reviewed and Appr	oved (and	should be consider	ed Draft) at the Re	esident Engineer Level by	browns1	
October 6, 2021				Reviewed	I and Approved at th	e Central Office C	Controllers Office Level by	ramses1	
Original Comple	tion Date	Current	Completion Date	Actu	al Completion Dat	e % o	f Current Contract Amount	Complete	
November 1,	November 1, 2021 No		mber 1, 2021				97.11%		
	Cont	ract Informational	Dates		Milesto	ones			
Date Description	Origi	nal Completion D	ate Current Complet	ion Date	No Milestones Exist for Contract				
Acceptance Date									
Awarded Date	Dece	mber 2, 2020	December 2, 2020)					
Letting Date	Nove	mber 20, 2020	November 20, 202	20					
Notice to Proceed Da	ate Febru	ary 1, 2021	February 1, 2021						
Work Began Date	April	5, 2021	April 5, 2021						

Contract Total Pay	For Estimate No. 15			
		This Estimate	Previous	To Date
201120-D01				
	Total Posted Items Pay	\$59,258.74	\$4,663,862.17	\$4,723,120.91
	Gross Item Adjustments	\$16,338.00	\$286,996.36	\$303,334.36
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$127,360.36	\$127,360.36
	,	-	\$5,078,218.89	\$5,153,815.63
Contract Total Pay	able This Estimate:	\$75,596.74		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5P3199	0190	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	EA	\$800.000	1	\$800.00
	0260	6181000	MOBILIZATION	LS	\$48,747.980	0.25	\$12,187.00
	0450	7250415	15 IN. PIPE GROUP C	LF	\$30.000	63	\$1,890.00
	0500	7320815A	15 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION	EA	\$200.000	4	\$800.00
	0610	8064134	TYPE 1D EROSION CONTROL BLANKET	SQYD	\$2.500	880	\$2,200.00
	0660	9020111	SIGNAL HEAD, TYPE 1T	EA	\$700.000	4	\$2,800.00
	0720	9027501	CONDUIT, 1 1/4 IN., EXTERNAL ON STRUCTURE	LF	\$40.000	27	\$1,080.00
	0740	9028500	CABLE, LOOP DETECTOR, IN DUCT	LF	\$4.950	628	\$3,108.60
	0750	9028510	CABLE, LOOP DETECTOR, LEAD-IN	LF	\$1.850	510	\$943.50
	0760	9028620	POWER SUPPLY ASSEMBLY, TYPE 2	EA	\$2,600.000	1	\$2,600.0
	0770	9029902	MISC.FLASHING SIGNAL CONTROLLER	EA	\$3,700.000	1	\$3,700.0
	0780	9029903	MISC.CABLE, 8 AWG 3 CONDUCTOR W/ GROUND	LF	\$5.900	1,723	\$10,165.7
	0850	9035069A	SHF-FLAT SHEET FLUORESCENT	SQFT	\$29.000	120	\$3,480.00
Project J5P	8199 - Total						\$45,754.8
J5P3272	0860	2022010	REMOVAL OF IMPROVEMENTS	LS	\$67,519.680	0.2	\$13,503.94
Project J5P	3272 - Total						\$13,503.94
Overall - To	al						\$59,258.7

No Contract Adjustments Exist on Contract Revision 4/1/2020



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 30, 2021

	Progr 15	ess Estimate Number	Contract ID Prime Contractor	201120-D01 Capital Pavin LLC	g & Construc	Start	September 30, 2021	Original Contra Net Change Or Amount Current Contra	der \$	236,273.36		
ine Item	Adjusti	<u>nents This Es</u>	timate									
Project Number	Line No.	Item De	Item Description		Item Description		Other Item Adjustment Type	Comm	nents	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3199	0070	FURNISHIN	IG ROCK BASE MATERIAL	Material				-8,540	\$7.50	(\$64,050.00		
	0070	FURNISHIN	IG ROCK BASE MATERIAL	Material		overridding Payment Es	Payment Estimate Ite 002) due to user cora	m m on	\$7.50	\$64,050.00		
	0170	FURNISHING	G TYPE 2 ROCK DITCH LINER	Material				-199	\$25.00	(\$4,975.00		
	0170	FURNISHING	G TYPE 2 ROCK DITCH LINER	Material		overridding Payment Es	Payment Estimate Ite 103) due to user cora	m m on	\$25.00	\$4,975.00		
	0450	15 IN.	PIPE GROUP C	Material				-63	\$30.00	(\$1,890.00		
	0450	15 IN.	PIPE GROUP C	Material		overridding Payment Es	Payment Estimate Ite 104) due to user cora	m m on	\$30.00	\$1,890.00		
	0500	SUBSTIT	. OR ALLOWED TUTE GROUP C END SECTION	Material				-4	\$200.00	(\$800.00		
	0500	15 IN. OR ALLOWED SUBSTITUTE GROUP C FLARED END SECTION		Material		overridding Payment Es	Payment Estimate Ite 005) due to user cora	m m on	\$200.00	\$800.00		
	0510	SEEDING -	COOL SEASON MIXTURES	Overrun		Averaged Price Adjust all previous payment es		is	\$2,450.00	(\$6,125.00		
	0510	SEEDING -	COOL SEASON MIXTURES	Material				-4.5	\$2,450.00	(\$11,025.00		
	0510	SEEDING - COOL SEASON MIXTURES		Overrun		Estimate Exception 22 o Estimate. Material	Payment Estimate Ite 6) overridding Payme	m nt nt ty	\$2,450.00	\$6,125.00		
	0510	SEEDING -	COOL SEASON MIXTURES	Material		overridding Payment	Payment Estimate Ite 007) due to user cora	m m 10	\$2,450.00	\$11,025.00		
	0610		E 1D EROSION ROL BLANKET	Overrun				-320	\$2.50	(\$800.00)		
	0610		E 1D EROSION ROL BLANKET	Material				-880	\$2.50	(\$2,200.00		
	0610		E 1D EROSION IROL BLANKET	Overrun		Estimate Exception 23 o	Payment Estimate Ite b) overridding Payme on the current Payme I Insufficiency Quanti	m nt nt ty	\$2.50	\$800.00		
	0610		E 1D EROSION	Material		This adjustment offse generated Material F Adjustment (00		m	\$2.50	\$2,200.00		



Pay Estimate Created Date: September 30, 2021

	Progre	ess Estimate Number	Contract ID Prime Contractor	201120-D01 Capital Pavin LLC	g & Constructio	Pay Period Start ^{on,} Pay Period End	September 30, 2021	Original Contra Net Change Or Amount Current Contra	der \$	236,273.36
Project Number	Line No.	Item D	escription	Adjustment Type	Other Item Adjustment Type	Comn	nents	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3199						overridding Payment on the curr	Estimate Exception ² ent Payment Estimat			
	0660	SIGNAL	HEAD, TYPE 1T	Material				-4	\$700.00	(\$2,800.00)
	0660	SIGNAL	HEAD, TYPE 1T	Material		generated Material F Adjustment (00 overridding Payment	ets the original syster Payment Estimate Ite 010) due to user cora Estimate Exception 7 rent Payment Estimat	m m 13	\$700.00	\$2,800.00
	0670	INDU	CTOR, VEHICLE CTION LOOP (2 IANNEL - RACK MOUNTED)	MaterialCredit				2	\$125.00	\$250.00
	0670	INDU	CTOR, VEHICLE CTION LOOP (2 IANNEL - RACK MOUNTED)	Material				-2	\$125.00	(\$250.00)
	0670	INDU	CTOR, VEHICLE CTION LOOP (2 IANNEL - RACK MOUNTED)	Material		generated Material F Adjustment (00 overridding Payment	ets the original syster Payment Estimate Ite 012) due to user cora Estimate Exception ² rent Payment Estimat	m m 14	\$125.00	\$250.00
	0720	CONDUIT, 1 1/4 IN. EXTERNAL ON STRUCTURE		Material				-27	\$40.00	(\$1,080.00)
	0720	CON	IDUIT, 1 1/4 IN., EXTERNAL ON STRUCTURE	Material		Adjustment (00 overridding Payment	Payment Estimate Ite 013) due to user cora	m m 15	\$40.00	\$1,080.00
	0740	CABLE, LOO	OP DETECTOR, IN DUCT	Overrun				-148	\$4.95	(\$732.60)
	0740	CABLE, LOO	OP DETECTOR, IN DUCT	Material				-628	\$4.95	(\$3,108.60)
	0740	CABLE, LOOP DETECTOR, IN DUCT		Overrun		generated Overrun F Adjustment (001 Estimate Exception 24 c	al Insufficiency Quanti	m nt nt ty	\$4.95	\$732.60
	0740	CABLE, LOOP DETECTOR, IN DUCT		Material		Adjustment (00 overridding Payment	Payment Estimate Ite 015) due to user cora	m m 16	\$4.95	\$3,108.60
	0750	CABLE, LOO	OP DETECTOR, LEAD-IN	Material				-510	\$1.85	(\$943.50)
	0750	CABLE, LOO	DP DETECTOR, LEAD-IN	Material		generated Material F Adjustment (00 overridding Payment	ets the original syster Payment Estimate Ite 016) due to user cora Estimate Exception 7 rent Payment Estimat	m m 17	\$1.85	\$943.50
	0760		OWER SUPPLY EMBLY, TYPE 2	Material				-1	\$2,600.00	(\$2,600.00)
	0760		OWER SUPPLY EMBLY, TYPE 2	Material		generated Material F Adjustment (00 overridding Payment	ets the original syster Payment Estimate Ite 017) due to user cora Estimate Exception ² rent Payment Estimat	m m 18	\$2,600.00	\$2,600.00



Pay Estimate Created Date: September 30, 2021

	Progr 15	ess Estimate Number	Contract ID Prime Contractor	201120-D01 Capital Pavin LLC	g & Construct	ion, Pay Period End September 30, 2021	Original Contra Net Change Or Amount Current Contra	der \$	236,273.36
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5P3199	0770		MISC.	Material			-1	\$3,700.00	(\$3,700.00
	0770		MISC.	Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0018) due to user cora overridding Payment Estimate Exception 1 on the current Payment Estimat	m m 9	\$3,700.00	\$3,700.00
	0780		MISC.	Material			-1,723	\$5.90	(\$10,165.70)
	0780		MISC.	Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0019) due to user cora overridding Payment Estimate Exception 2 on the current Payment Estimat	m m 21	\$5.90	\$10,165.70
	0790	CONCRE	TE FOOTINGS, EMBEDDED	MaterialCredit			2.4	\$1,800.00	\$4,320.00
	0810		/AY ASSEMBLY ATED SQUARE STEEL TUBE)	MaterialCredit			4	\$250.00	\$1,000.00
	0820	2.5 IN. PSST	POST - 12 GA.	MaterialCredit			176	\$16.00	\$2,816.00
	0830	POST ANCH	OR FOR 2.5 IN. PSST - 7 GA.	MaterialCredit			27	\$30.00	\$810.00
	0850		IF-FLAT SHEET FLUORESCENT	Construction Stockpile		Payment Estimate Item Adjustment generate Stockpile Transaction			(\$2,058.00)
J5P3272	1080	WATERBOR	TE HIGH BUILD NE PAVEMENT PAINT, TYPE L BEADS	Material			-231,563	\$0.20	(\$46,312.60)
	1080	WATERBOR	TE HIGH BUILD NE PAVEMENT PAINT, TYPE L BEADS	Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0024) due to user cora overridding Payment Estimate Exception 4 o the current Payment Estimat	m m on	\$0.20	\$46,312.60
	1090	WATERBOR	W HIGH BUILD NE PAVEMENT PAINT, TYPE L BEADS	Material			-152,867	\$0.16	(\$24,458.72)
	1090	WATERBOR	W HIGH BUILD NE PAVEMENT PAINT, TYPE L BEADS	Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0025) due to user cora overridding Payment Estimate Exception 6 o the current Payment Estimat	m m pn	\$0.16	\$24,458.72
	1200		MISC.	Overrun		Averaged Price Adjustment from this item of all previous payment estimates of '0.00000' applied (if non-zero	is	\$2,300.00	(\$4,600.00)
	1200		MISC.	MaterialCredit			4	\$2,300.00	\$9,200.00
	1200		MISC.	Material			-4	\$2,300.00	(\$9,200.00)
	1200		MISC.	Overrun		This adjustment offsets the original syster generated Overrun Payment Estimate Ite Adjustment (0026) overridding Payme Estimate Exception 25 on the current Payme Estimate. Material Insufficiency Quanti 4.000; Overrun Quantity Balance 2.0	m nt nt ty	\$2,300.00	\$4,600.00
	1200		MISC.	Material		This adjustment offsets the original syster generated Material Payment Estimate Ite Adjustment (0028) due to user cora overridding Payment Estimate Exception 2 on the current Payment Estimat	m m 20	\$2,300.00	\$9,200.00
Total									\$16,338.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information									
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work					
J5P3199	FAF 50-3(107)	Intersection Improvements	50	MORGAN	at Rte. 5 west of Tipton					
J5P3272	FAF 50-3(105)	Resurface and guardrail improvements	50	MORGAN	from Pettis County line to 0.1 mile west of Bus. 50 west of California					
J5S3267	FAS S402(23)	Resurface and guardrail improvements	87	MONITEAU	from 0.1 mile south of Bus. 50 to Rte. 50 in California					

Totals by Job Numbers

J5P3199		This Estimate	Previous	To Date
	Posted Item Pay	\$45,754.80	\$916,358.04	\$962,112.84
	Gross Item Adjustments	\$7,138.00	\$11,701.92	\$18,839.92
	Gross Item Pay	\$52,892.80	\$928,059.96	\$980,952.76
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$25,395.66	\$25,395.66
J5P3272		This Fatiments	Describeron	T- D-4-
JJF 3272	De este di literre Deve	This Estimate	Previous	To Date
	Posted Item Pay	\$13,503.94	\$3,414,728.35	\$3,428,232.29
	Gross Item Adjustments	\$9,200.00	\$262,312.99	\$271,512.99
	Gross Item Pay	\$22,703.94	\$3,677,041.34	\$3,699,745.28
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$93,253.26	\$93,253.26
J5S3267		This Estimate	Previous	To Date
	Posted Item Pay	\$0.00	\$332,775.78	\$332,775.78
	Gross Item Adjustments	\$0.00	\$12,981.45	\$12,981.45
	Gross Item Pay	\$0.00	\$345,757.23	\$345,757.23
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damages	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$8,711.44	\$8,711.44
			+-,	++,



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period Exceptions / Discrepencies	Explanation	Entered	Status
		By	
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 3030600, Project Item Line Number 0070, Material Set 303060096, Material 0303CARB - Rock for Rock Base, Acceptance Action Generic 0303CARB is insufficient.	Inspection not entered at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 4071005, Project Item Line Number 0160, Material Set 407100596, Material 1015EASS1 - Emulsified Asphalt SS-1, Acceptance Action Generic AspEmulsion is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 6096020, Project Item Line Number 0170, Material Set 609602096, Material 0609PDDL - Paved Drainage Material for Ditch Liner, Acceptance Action Generic 0609PDDL is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3272, Item 6205902A, Project Item Line Number 1080, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3272, Item 6205902A, Project Item Line Number 1080, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3272, Item 6205903A, Project Item Line Number 1090, Material Set 6205903A96, Material 1048PMTRHBWBYL - Marking Paint Acrylic Watr HiBld Yellow, Acceptance Action Generic 1048PMTRHBWBYL is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3272, Item 6205903A, Project Item Line Number 1090, Material Set 6205903A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 7250415, Project Item Line Number 0450, Material Set 725041596, Material 1020CPCSZC.015 - CulvPipe Zn Ctd Corrug Stl 15" 375mm, Acceptance Action Generic 1020CPCSZC.015 is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 7320815A, Project Item Line Number 0500, Material Set 7320815A96, Material 1020ESZN - Flared End Section Zinc galvanized steel, Acceptance Action Generic 1020ESZN is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 8051000A, Project Item Line Number 0510, Material Set 8051000A96, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 8051000A, Project Item Line Number 0510, Material Set 8051000A96, Material 0801AG - Agricultural Lime -Effective Nuetralizer, Acceptance Action Generic 0801AG is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 8064134, Project Item Line Number 0610, Material Set 806413496, Material 0806EKBL - Erosion Control Blanket, Acceptance Action ECB is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 9020111, Project Item Line Number 0660, Material Set 902011196, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 9024944, Project Item Line Number 0670, Material Set 902494496, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 9027501, Project Item Line Number 0720, Material Set 9027501, Material 1060EC - Electrical Conduit Material, Acceptance Action Generic 1060EC is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 9028500, Project Item Line Number 0740, Material Set 902850096, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 9028510, Project Item Line Number 0750, Material Set 902851096, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 9028620, Project Item Line Number 0760, Material Set 902862096, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 9029902, Project Item Line Number 0770, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3272, Item 9029902, Project Item Line Number 1200, Material Set 9029902, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Insufficient Materials: Project J5P3199, Item 9029903, Project Item Line Number 0780, Material Set 902990396, Material 0902TSXX - Traffic Signals Material, Acceptance Action Generic 0902TSXX is insufficient.	Inspection report not complete at this time.	coram	Overridden
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0510, Contract Line Item Number 0510, Item 8051000A, Minor Item.	Change Order 5 pending	coram	Overridden
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0610, Contract Line Item Number 0610, Item 8064134, Minor Item.	Change Order not complete at this time.	coram	Overridden
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0740, Contract Line Item Number 0740, Item 9028500, Minor Item.	Change Order not complete at this time.	coram	Overridden
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3272, Project Item Line Number 1200, Contract Line Item Number 1200, Item 9029902, Minor Item.	Change Order 5 pending.	coram	Overridden



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0100, Contract Line Item Number 0100, Item 3107002, Minor Item.	Change order not complete at this time.	coram	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0130, Contract Line Item Number 0130, Item 4030103, Minor Item.	Change Order 5 pending.	coram	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0140, Contract Line Item Number 0140, Item 4030208, Minor Item.	Change Order 5 pending.	coram	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0160, Contract Line Item Number 0160, Item 4071005, Minor Item.	Change Order 5 pending.	coram	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0570, Contract Line Item Number 0570, Item 8061006, Minor Item.	Change Order not complete at this time.	coram	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0600, Contract Line Item Number 0600, Item 8061019, Minor Item.	Change Order 5 pending	coram	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3199, Project Item Line Number 0620, Contract Line Item Number 0620, Item 6061060, Minor Item.	Change Order 5 pending.	coram	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3272, Project Item Line Number 1110, Contract Line Item Number 1110, Item 6221001, Minor Item.	Change Order not complete at this time.	coram	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3272, Project Item Line Number 0910, Contract Line Item Number 0910, Item 4011209, Minor Item.	Change Order 5 pending.	coram	Acknowledged
Estimate Exception Type: Item Overrun: Contract 201120-D01, Contract Project J5P3272, Project Item Line Number 0885, Contract Line Item Number 0885, Item 2153000, Minor Item.	Change Order not complete at this time.	coram	Acknowledged



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repor generated date)
1120-D01	J5P3199	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	-	\$10,000.00	\$10,000.0
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$22,100.00	\$22,100.0
		0001	0030	2035000	UNCLASSIFIED EXCAVATION	7,821.00	0.00	7,821.00	CUYD	7,821.00	\$10.00	\$78,210.0
		0001	0040	2036000	COMPACTING EMBANKMENT	4,509.00	0.00	4,509.00	CUYD	4,509.00	\$2.00	\$9,018.0
		0001	0050	2063000	CLASS 3 EXCAVATION	54.00	0.00	54.00	CUYD	40.00	\$15.00	\$600.0
		0001	0060	2063400	CLASS 4 EXCAVATION IN ROCK	47.00	0.00	47.00	CUYD	47.00	\$50.00	\$2,350.
		0001	0070	3030600	FURNISHING ROCK BASE MATERIAL	8,540.00	0.00	8,540.00	SQYD	8,540.00	\$7.50	\$64,050.
		0001	0080	3030610A	504 TYPE 5 AGGREGATE FOR BASE (4 IN. THICK) 1,6	8,540.00	0.00	8,540.00	SQYD	8,540.00	\$7.50	\$64,050.
		0001	0090	3040504		1,609.00	0.00	1,609.00	SQYD	1,609.00	\$8.00	\$12,872.
		0001	0100	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	34.00	0.00	34.00	TONS	45.00	\$40.00	\$1,800.
		0001	0110	4019905	5 MISC.OPTIONAL PAVEMENT WIDENING- 8.5" HMA VS 8.5" PCCP W/3.75" HMA	8,540.20	0.00	8,540.20	SQYD	8,430.80	\$25.08	\$211,444.4
		0001	0120	4019905	MISC.OPTIONAL WB SHLDR. PVM'T - 7.5" HMA VS 7.5" PCCP	1,608.90	0.00	1,608.90	SQYD	1,589.60	\$25.64	\$40,757.
		0001	0130	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	1,830.50	0.00	1,830.50	TONS	2,017.95	\$53.17	\$107,294.4
		0001	0140	4030208	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP190C MIX)	454.00	6.30 0.00	454.00	TONS	546.27	\$52.37	\$28,608.
		0001	0150	4039905	MISC.SYSTEM B GEOSYNTHETIC INTERLAYER (COMPOSITE PAVING FABRIC/REINFORCING GRID)	1,653.30		1,653.30	SQYD	1,634.00	\$7.72	\$12,614.4
		0001	0160	4071005	TACK COAT	2,117.00		2,117.00	GAL	3,564.00	\$2.00	\$7,128.
		0001 0170	0170	6096020	FURNISHING TYPE 2 ROCK DITCH LINER	206.00	0.00	206.00	CUYD	199.00	\$25.00	\$4,975.
		0001	0180	6096042	PLACING TYPE 2 ROCK DITCH LINER	206.00	0.00	206.00	CUYD	199.00	\$25.00	\$4,975.
		0001	0190	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	1.00	\$800.00	\$800.
		0001	0200	6161005	CONSTRUCTION SIGNS	796.00	0.00	796.00	SQFT	410.50	\$6.00	\$2,463
		0001	0210	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$50.00	\$100.
		0001	0220	6161009	FLAG ASSEMBLY	6.00	0.00	6.00	EA	0.00	\$25.00	\$0.
		0001	0230	6161025	CHANNELIZER (TRIM LINE)	80.00	0.00	80.00	EA	67.00	\$16.00	\$1,072.
		0001	0240	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	3.00	0.00	3.00	EA	3.00	\$6,200.00	\$18,600.
		0001	0250	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	4.00	\$1,000.00	\$4,000
		0001	0260	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$48,747.98	\$48,747
		0001	0270	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.
		0001	0280	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	573.00	0.00	573.00	LF	0.00	\$14.00	\$0
		0001	0290	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	383.00	0.00	383.00	LF	0.00	\$14.00	\$0.
		0001	0300	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	6.00	0.00	6.00	EA	0.00	\$250.00	\$0
		0001	0310	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	6.00	0.00	6.00	EA	0.00	\$200.00	\$0.
		0001	0320	6200030	PREFORMED THERMOPLASTIC PAVEMENT MARKING, WORD (ONLY)	4.00	0.00	4.00	EA	0.00	\$450.00	\$0.
		0001	0330	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	9,760.00	0.00	9,760.00	LF	0.00	\$0.15	\$0.
		0001	0340	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	12,545.00	0.00	12,545.00	LF	0.00	\$0.20	\$0.
		0001	0350	6207001	PAVEMENT MARKING REMOVAL	31,040.00	0.00	31,040.00	LF	15,346.00	\$0.15	\$2,301
		0001	0360	6208076	4 IN TEMPORARY PAVEMENT MARKING PAINT	31,040.00	0.00	31,040.00	LF	15,346.00	\$0.15	\$2,301
		0001	0370	6209902	MISC.TRANSVERSE RUMBLE STRIPS	2.00	0.00	2.00	EA	2.00	\$1,720.72	\$3,441
		0001	0380	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	4,483.00	0.00	4,483.00	SQYD	4,435.00	\$3.00	\$13,305
		0001	0390	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	275.00	0.00	275.00	SQYD	275.00	\$8.36	\$2,299
		0001	0400	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	65.00	0.00	65.00	STA	0.00	\$9.50	\$0
		0001	0410	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	65.30	0.00	65.30	STA	0.00	\$9.50	\$0
		0001	0420	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$10,000.00	\$10,000
		0001	0430	7034040	CLASS B-1 CONCRETE (CULVERTS-BRIDGE)	20.80	0.00	20.80	CUYD	20.80	\$1,000.00	\$20,800.
		0001	0440	7061020	REINFORCING STEEL (CULVERTS-BRIDGE)	2,440.00	0.00	2,440.00	LB	2,440.00	\$2.00	\$4,880.



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Nm.CONTRACT No. No. Code Quantity Change Current Posted To I	alue POSTED te (See report erated date) \$1,890.00
000004007810242HIN PRE GROUPA358035800.0035.000	\$1,890,00
Internal Internal Internal Internal Internal Internal Internal Internal Internal Internal 	φ1,000.00
International 1440 732000000000000000000000000000000000000	\$1,400.00
International Internat	\$2,175.00
Image Image <th< td=""><td>\$1,000.00</td></th<>	\$1,000.00
001105007230915415.000 ALLOWED SUBSTITUTE GROUP C FLARED END4.0000.0000.4000.	\$0.00
00010510050000SEEDING - COOL SEASON MIXTURES2<000.0000.0000.200ACRE0.4000.5000.1000.100<	\$800.00
10001050005000050000SEDIMENT BASIN ROCK55000.0005500CUV05500352.001001105400601003SEDIMENT TRAP EXCAVATION5500.00055.00CUV055.0025.00	\$11,025.00
00010540540054005400550CUV5.500.20000010550050005600500005000500050000500<	\$119.80
10000550050005	\$1,497.50
Late 000105008061005ROCK DTCH CHECK210021002100210210210.021	\$11.00
000105708061008ALTERNATE DITCH CHECK6660.000.006660.000.1F740.0088.00000105808061015SEDIMENT REMOVAL86.000.0086.000.0086.000.00744.22\$10.00000105908061015TEMPORARY SEEDING AND MULCHING0.040.040479.002.669.00LF2.817.00\$2.50.00000106008061015SILT FENCE2.19.000479.002.669.00SQ2.889.00\$2.69.001.05\$2.89.00\$2.69.001.05\$2.89.00	\$137.50
Not 0001 0560 806106 SEDIMENT REMOVAL 86.00 0.00 86.00 CUV 44.22 \$10.00 0011 0500 8061017 TEMPORARY SEEDING AND MULCHING 0.40 0.40 0.40 ACRE 0.00 \$2.00 \$	\$2,312.45
Interview Interview <t< td=""><td>\$6,290.00</td></t<>	\$6,290.00
0001 0600 8061019 SLT FENCE 2,190.00 479.00 2,669.00 LF 2,817.00 \$2.00 0001 0610 8064134 TYPE 1D EROSION CONTROL BLANKET 560.00 0.00 560.00 SQYD 880.00 \$2.10.00 0010 0620 661060 MGS GUARDRAIL 738.00 0.00 738.00 LF 1,250.00 \$2.10.00 0010 0630 660301 TYPE A CRASHWORTHY END TERMINAL (MASH) 4.00 0.00 4.00 2.800.00 \$2.800.00 0020 0640 9016110 PULL BOX, PREFORMED CLASS 1 6.00 0.00 4.00 \$2.800.00 \$1.200.00 0020 0650 9016112 PULL BOX, PREFORMED CLASS 3 1.00 0.00 4.00 \$2.00 \$1.600.00 00300 0660 9020111 SIGNAL HEAD, TYPE 1T 4.00 0.000 4.00 \$2.00 \$1.600.00 00300 0660 9025002 CONDUIT, 1 N, LOOP DETECTOR WITH TRACER WIRE 36.00 0.00 3.60.0 LF	\$442.20
Note Note <th< td=""><td>\$0.00</td></th<>	\$0.00
No. No. <td>\$5,634.00</td>	\$5,634.00
0100 0630 6063014 TYPE A CRASHWORTHY END TERMINAL (MASH) 4.00 0.00 4.00 EA 4.00 \$2,800.0 0020 0640 9016110 PULL BOX, PREFORMED CLASS 1 6.00 0.00 6.00 EA 6.00 \$1.00 51.00	\$2,200.00
Note Note <th< td=""><td>\$26,250.00</td></th<>	\$26,250.00
Note Note <th< td=""><td>\$11,200.00</td></th<>	\$11,200.00
0030 0660 9020111 SIGNAL HEAD, TYPE 1T 4.00 0.00 4.00 6.	\$7,200.00
No. No. <td>\$1,600.00</td>	\$1,600.00
NOUNTED NOUNTED <t< td=""><td>\$2,800.00</td></t<>	\$2,800.00
Note Note <th< td=""><td>\$250.00</td></th<>	\$250.00
No. Operation Oper	\$288.00
0030 0710 9027300 CONDUIT, 3 IN., PUSHED WITH TRACER WIRE 70.00 0.00 70.00 LF 70.00 \$25.00 0030 0720 9027501 CONDUIT, 1 1/4 IN., EXTERNAL ON STRUCTURE 27.00 0.00 27.00 LF 27.00 \$40.00 0030 0730 9028202 CABLE, 2 AWG 1 CONDUCTOR, POWER 880.00 0.00 880.00 LF 0.00 \$2.85	\$0.00
1000 070 9027501 CONDUIT, 1 /4 IN, EXTERNAL ON STRUCTURE 27.00 0.00 27.00 LF 27.00 \$40.00 0030 0730 9028202 CABLE, 2 AWG 1 CONDUCTOR, POWER 880.00 0.00 880.00 LF 0.00 \$2.85	\$13,115.50
0030 0730 9028202 CABLE, 2 AWG 1 CONDUCTOR, POWER 80.00 0.00 80.00 LF 0.00 \$2.85	\$1,750.00
	\$1,080.00
0030 0740 9028500 CABLE, LOOP DETECTOR, IN DUCT 480.00 0.00 480.00 LF 628.00 \$4.95	\$0.00
	\$3,108.60
0030 0750 9028510 CABLE, LOOP DETECTOR, LEAD-IN 510.00 0.00 510.00 LF 510.00 \$1.85	\$943.50
0030 0760 9028620 POWER SUPPLY ASSEMBLY, TYPE 2 1.00 0.00 1.00 EA 1.00 \$2,600.00	\$2,600.00
0030 0770 9029902 MISC.FLASHING SIGNAL CONTROLLER 1.00 0.00 1.00 EA 1.00 \$3,700.00	\$3,700.00
0030 0780 9029903 MISC.CABLE, 8 AWG 3 CONDUCTOR W/ GROUND 1,723.00 0.00 1,723.00 LF 1,723.00 \$\$5.90	\$10,165.70
0040 0790 9031010 CONCRETE FOOTINGS, EMBEDDED 2.40 0.00 2.40 CUYD 2.40 \$1,800.00	\$4,320.00
0040 0800 9031210 STRUCTURAL STEEL POSTS 1,270.00 0.00 1,270.00 LB 1,270.00 \$5.00	\$6,350.00
0040 0810 9031241 BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL 4.00 0.00 4.00 EA 4.00 \$250.00	\$1,000.00
0040 0820 9031280 2.5 IN. PSST POST - 12 GA. 176.00 0.00 176.00 LF 176.00 \$\$16.00	\$2,816.00
0040 0830 9031281 POST ANCHOR FOR 2.5 IN. PSST - 7 GA. 33.00 0.00 33.00 LF 27.00 \$30.00	\$810.00
0040 0840 9035004A SH-FLAT SHEET 124.00 0.00 124.00 SQFT 92.00 \$\$26.00	\$2,392.00
0040 0850 9035069A SHF-FLAT SHEET FLUORESCENT 120.00 0.00 120.00 SQFT 120.00 \$29.00	\$3,480.00
Project J5P3199 - Total Value Posted to Date as of Report Generated Date	\$962,112.82
J5P3272 0001 0860 2022010 REMOVAL OF IMPROVEMENTS 1.00 0.00 1.00 LS 1.00 \$67,519.68	\$302,112.02
0001 0870 2101006A SUBGRADE COMPACTION (6-INCH DEPTH) 85.00 0.00 85.00 100F 0.00 \$26.47	\$67,519.68



Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

					eport Generated date and can differ from the posted amo							
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201120-D01	J5P3272	0001	0885	2153000	SHAPING SLOPES, CLASS III	6.00	0.00	6.00	100F	7.35	\$900.00	\$6,615.00
		0001	0890	3049910	MISC.AGGREGATE EDGE TREATMENT	2,706.00	0.00	2,706.00	TONS	2,698.46	\$39.16	\$105,671.69
		0001	0900	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	972.00	0.00	972.00	TONS	824.79	\$40.80	\$33,651.43
		0001	0910	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	7,647.70	464.10	8,111.80	TONS	8,113.12	\$54.23	\$439,974.50
		0001	0920	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	1,582.30	213.10	1,795.40	TONS	1,795.40	\$65.21	\$117,078.03
		0001	0930	4030103	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP125C MIX)	41,672.60	1,095.80	42,768.40	TONS	41,077.55	\$51.33	\$2,108,510.64
		0001	0940	4071005	TACK COAT	41,370.00	13,256.00	54,626.00	GAL	39,182.00	\$2.00	\$78,364.00
		0001	0950	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	1.00	\$800.00	\$800.00
		0001	0960	6161005	CONSTRUCTION SIGNS	2,608.00	0.00	2,608.00	SQFT	2,071.50	\$6.00	\$12,429.00
		0001	0970	6161008	ADVANCED WARNING RAIL SYSTEM	16.00	0.00	16.00	EA	0.00	\$50.00	\$0.00
		0001	0980	6161009	FLAG ASSEMBLY	18.00	0.00	18.00	EA	0.00	\$25.00	\$0.00
		0001	0990	6161025	CHANNELIZER (TRIM LINE)	75.00	0.00	75.00	EA	28.00	\$16.00	\$448.00
		0001	1000	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,250.00	\$4,500.00
		0001	1010	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$1,000.00	\$0.00
		0001	1020	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$81,319.66	\$81,319.66
		0001	1030	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.00
		0001	1040	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	86.00	0.00	86.00	LF	0.00	\$35.00	\$0.00
		0001	1050	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	3.00	0.00	3.00	EA	0.00	\$300.00	\$0.00
		0001	1060	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	5.00	0.00	5.00	EA	0.00	\$100.00	\$0.00
		0001	1070	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	710.00	0.00	710.00	LF	0.00	\$0.15	\$0.00
		0001	1080	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	232,556.00	0.00	232,556.00	LF	231,563.00	\$0.20	\$46,312.60
		0001	1090	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	152,867.00	0.00	152,867.00	LF	152,867.00	\$0.16	\$24,458.72
		0001	1100	6209901	MISC.TEMPORARY PAVEMENT MARKING PAINT	1.00	0.00	1.00	LS	0.00	\$0.00	\$0.00
		0001	1110	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	15,841.00	0.00	15,841.00	SQYD	35,660.36	\$1.50	\$53,490.54
		0001	1120	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	8,938.00	0.00	8,938.00	SQYD	8,882.50	\$4.61	\$40,948.32
		0001	1130	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	1,968.00	0.00	1,968.00	STA	1,968.00	\$9.50	\$18,696.00
		0001	1140	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	1,081.70	0.00	1,081.70	STA	1,081.70	\$9.50	\$10,276.15
		0001	1150	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,500.00	\$1,500.00
		0001	1160	8051000A	SEEDING - COOL SEASON MIXTURES	5.50	0.00	5.50	ACRE	0.00	\$2,450.00	\$0.00
		0010	1170	6061060	MGS GUARDRAIL	700.00	0.00	700.00	LF	700.00	\$21.00	\$14,700.00
		0010	1180	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	8.00	0.00	8.00	EA	8.00	\$2,900.00	\$23,200.00
		0010	1190	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	8.00	\$2,800.00	\$22,400.00
		0030	1200	9029902	MISC.6' x 30' LOOP DETECTOR	2.00	0.00	2.00	EA	4.00	\$2,300.00	\$9,200.00
		0040	1210	9031250A	U-CHANNEL POST, 3 LB	1,408.00	0.00	1,408.00	LF	1,408.00	\$23.00	\$32,384.00
		0040	1220	9035069A	SHF-FLAT SHEET FLUORESCENT	246.00	0.00	246.00	SQFT	246.00	\$24.00	\$5,904.00
		0001	5101	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	0.00	252.40	252.40	TONS	252.40	\$169.56	\$42,796.94
		0001	5102	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	0.00	1,185.00	1,185.00	SQYD	1,185.00	\$14.58	\$17,277.30
		0001	5103	2029901	MISC.Shoulder Removal	0.00	1.00	1.00	LS	1.00	\$7,478.50	\$7,478.50
					Date as of Report Generated Date	1.00	0.00	1.00	10	4.00	64 500 00	\$3,428,232.25
	J5S3267	0001	1230 1240	2022010 4011209	REMOVAL OF IMPROVEMENTS BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	2,658.70	0.00 443.50	3,102.20	LS TONS	3,102.20	\$4,500.00	\$4,500.00
		0001										
		0001	1250	4079912	MISC.TACK COAT - LOW-TRACK OR NON-TRACKING	2,808.00	468.00	3,276.00	GAL	3,276.00	\$2.70	\$8,845.20
		0001	1260 1270	6123000A 6161005	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	-1.00	748.00	EA SQFT	748.00	\$800.00	\$800.00
		0001	1210	0101000		1,410.00	-007.00	140.00	JUFI	140.00	φ0.00	φ 4 ,400.00



Total Paid / All Items / All Estimates (Including this Estimate)

, Ited date and can differ from the posted amount at the time the Estimate was Generated. he (

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
201120-D01	J5S3267	0001	1280	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	-2.00	0.00	EA	0.00	\$50.00	\$0.00
		0001	1290	6161009	FLAG ASSEMBLY	16.00	-16.00	0.00	EA	0.00	\$25.00	\$0.00
		0001	1300	6161025	CHANNELIZER (TRIM LINE)	50.00	0.00	50.00	EA	50.00	\$16.00	\$800.00
		0001	1310	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	2.00	-2.00	0.00	EA	0.00	\$1,000.00	\$0.00
		0001	1320	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$16,066.98	\$16,066.98
		0001	1330	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	401.00	0.00	401.00	LF	401.00	\$1.00	\$401.00
		0001	1340	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	72.00	50.00	122.00	LF	122.00	\$35.00	\$4,270.00
		0001	1350	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	5.00	0.00	5.00	EA	5.00	\$300.00	\$1,500.00
		0001	1360	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	2.00	\$1,250.00	\$2,500.00
		0001	1370	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	12.00	0.00	12.00	EA	12.00	\$100.00	\$1,200.00
		0001	1380	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	14,325.00	0.00	14,325.00	LF	14,325.00	\$0.18	\$2,578.50
		0001	1390	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	19,621.00	0.00	19,621.00	LF	19,621.00	\$0.18	\$3,531.78
		0001	1400	6207001	PAVEMENT MARKING REMOVAL	16.00	0.00	16.00	LF	16.00	\$15.00	\$240.00
		0001	1410	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	4.00	0.00	4.00	EA	4.00	\$100.00	\$400.00
		0001	1420	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	13,094.00	8,313.00	21,407.00	SQYD	21,407.00	\$2.32	\$49,664.24
		0001	1430	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	692.00	-154.00	538.00	SQYD	538.00	\$4.63	\$2,490.94
		0001	1440	8061006	ALTERNATE DITCH CHECK	40.00	-40.00	0.00	LF	0.00	\$8.50	\$0.00
		0001	1450	8061007A	CURB INLET CHECK	22.00	3.00	25.00	EA	25.00	\$130.00	\$3,250.00
		0001	1460	8061016	SEDIMENT REMOVAL	11.00	-11.00	0.00	CUYD	0.00	\$39.86	\$0.00
		0001	1470	8061019	SILT FENCE	1,070.00	-1,070.00	0.00	LF	0.00	\$2.00	\$0.00
		0010	1480	6061060	MGS GUARDRAIL	738.00	-13.00	725.00	LF	725.00	\$21.00	\$15,225.00
		0010	1490	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$2,900.00	\$11,600.00
		0010	1500	6061080	MGS END ANCHOR	1.00	0.00	1.00	EA	1.00	\$1,200.00	\$1,200.00
		0010	1510	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	3.00	0.00	3.00	EA	3.00	\$2,800.00	\$8,400.00
		0030	1520	9029902	MISC.LOOP DETECTOR	8.00	0.00	8.00	EA	8.00	\$1,300.00	\$10,400.00
		0010	5201	2153000	SHAPING SLOPES, CLASS III	0.00	11.60	11.60	100F	11.60	\$900.00	\$10,440.00
	Project J	5S3267 - To	otal Value	Posted to D	ate as of Report Generated Date							\$332,775.77
01120-D01 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$4,723,120.84



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5P3199

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0190	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	9/30/21	9/30/21	1.00	EA	Portable	0				Used during pavement marking
0260	6181000	MOBILIZATION	9/20/21	9/28/21	0.25	LS	Mobilization Payment					
0450	7250415	15 IN. PIPE CULVERT GROUP C	9/30/21	9/30/21	23.00	LF	Field Entrance	774+24.78				
				9/30/21	40.00	LF	Syracuse Road	763+60				
0500	7320815A	15 IN. GROUP C FLARED END SEC	9/30/21	9/30/21	2.00	EA	Field Entrance	774+24.78				
				9/30/21	2.00	EA	Syracuse Rd	763+60				
0610	8064134	TYPE 1D EROSION CONTROL BLANKET	9/24/21	9/28/21	880.00	SQYD		774+50		778+00		
0660	9020111	SIGNAL HEAD, TYPE 1T	9/30/21	9/30/21	4.00	EA	768+00 RT - 2 each 783+68 LT - 2 each	768+00		783+68		
0720	9027501	CONDUIT, 1 1/4 IN., EXTNAL ON STRUCTURE	9/30/21	9/30/21	27.00	LF		786+00		783+68		
0740	9028500	CABLE, LOOP DETECTOR, IN DUCT	9/30/21	9/30/21	238.00	LF	6x6 loop detector plus length to pull box	775+10				
				9/30/21	390.00	LF	6x30 loop detector plus length to pull box	775+20				
0750	9028510	CABLE, LOOP DETECTOR, LEAD-IN	9/30/21	9/30/21	510.00	LF		775+93				
0760	9028620	POWER SUPPLY ASSEMBLY, TYPE 2	9/30/21	9/30/21	1.00	EA	RT	774+45				
0770	9029902	MISC.	9/30/21	9/30/21	1.00	EA		774+45				
0780	9029903	MISC.	9/30/21	9/30/21	1,723.00	LF		768+00		783+68		
0850	9035069A	SHF-FLAT SHEET FLUORESCENT	9/30/21	9/30/21	24.00	SQFT	EBL	768+00				
				9/30/21	24.00	SQFT	WBL	783+06				
				9/30/21	72.00	SQFT	EBL shoulder behind guardrail directly across from 5 intersection.	775+25				

Project: J5P3272

Line umber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0860	2022010	REMOVAL OF IMPROVEMENTS	9/30/21	9/30/21	0.20	LS	Remaining items removed. Type III object markers removed.	0				

The information below this line are details for Construction Signs (if applicable). No Data Available



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
5P3199	0040	COMPACTING EMBANKMENT	Material		8	Jun 16, 2021	SYSTEM	\$9,018.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Jun 16, 2021	SYSTEM	(\$9,018.00)	
					9	Jun 30, 2021	SYSTEM	\$9,018.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					9	Jun 30, 2021	SYSTEM	(\$9,018.00)	
					10	Jul 16, 2021	SYSTEM	\$9,018.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Jul 16, 2021	SYSTEM	(\$9,018.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0040 -	Total						\$0.00	
	0070	FURNISHING ROCK BASE MATERIAL	Material		10	Jul 16, 2021	SYSTEM	\$8,995.72	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user coram overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Jul 16, 2021	SYSTEM	(\$8,995.72)	
					11	Aug 3, 2021	SYSTEM	\$64,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					11	Aug 3, 2021	SYSTEM	(\$64,050.00)	
					12	Aug 16, 2021	SYSTEM	\$64,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					12	Aug 16, 2021	SYSTEM	(\$64,050.00)	
					13	Sep 2, 2021	SYSTEM	\$64,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0031) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					13	Sep 2, 2021	SYSTEM	(\$64,050.00)	
					14	Sep 17, 2021	SYSTEM	\$64,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ahlboc1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					14	Sep 17, 2021	SYSTEM	(\$64,050.00)	
					15	Sep 30, 2021	SYSTEM	\$64,050.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$64,050.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0070 -	Total						\$0.00	
	0090	TYPE 5 AGGREGATE FOR BASE	Material		8	Jun 16, 2021	SYSTEM	\$9,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user coram overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Jun 16, 2021	SYSTEM	(\$9,600.00)	
					9	Jun 30, 2021	SYSTEM	(\$12,720.00)	
					10	Jul 16, 2021	SYSTEM	\$12,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user coram overridding Payment Estimate Exception 3 on the current Payment Estimate.
					10	Jul 16, 2021	SYSTEM	(\$12,720.00)	
					11	Aug 3, 2021	SYSTEM	\$12,720.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user coram overridding Payment Estimate Exception 2 on the current Payment Estimate.
					11	Aug 3,	SYSTEM	(\$12,720.00)	



Oct 7, 2021

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J5P3199	0090	TYPE 5 AGGREGATE	Material			2021			
		FOR BASE	Material Tata	- Total				(\$12,720.00)	
			Material - Tota MaterialCredit		10	Jul 16	SYSTEM	(\$12,720.00)	
			MaterialCredit		10	Jul 16, 2021	STOTEM	\$12,720.00	
				- Total				\$12,720.00	
			MaterialCredit	- Total				\$12,720.00	
			Price FUEL		8	Jun 16, 2021	SYSTEM	\$171.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Jun 30, 2021	SYSTEM	\$55.58	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					13	Sep 2, 2021	SYSTEM	\$2.99	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$229.57	
			Price FUEL - T	otal				\$229.57	
	0090 -	Total						\$229.57	
	0100	GRAVEL (A) OR CRUSHED STONE	Overrun	Overrun	13	Sep 2, 2021	SYSTEM	(\$440.00)	
		(B) OR CHAT		Overrun - T	otal			(\$440.00)	
			Overrun - Tota	ıl				(\$440.00)	
	0100 -	Total						(\$440.00)	
	0110	MISC.	Other Item Adjustment	ACAD	12	Aug 17, 2021	coram	\$13,006.62	
				ACAD - Tota	al			\$13,006.62	
				FUEL	12	Aug 17, 2021	coram	\$13,337.44	
				FUEL - Tota	I			\$13,337.44	
			Other Item Adj	justment - To	tal			\$26,344.06	
	0110 -	Total						\$26,344.06	
	0120	MISC.	Other Item Adjustment	ACAD	9	Jun 30, 2021	coram	\$1,895.00	
				ACAD - Tota	al			\$1,895.00	
				FUEL	9	Jun 30, 2021	coram	\$2,064.61	
				FUEL - Tota	I			\$2,064.61	
			Other Item Adj	justment - To	tal			\$3,959.61	
	0120 -	Total						\$3,959.61	
	0130		Other Item Adjustment	ACAD	12	Aug 17, 2021	coram	\$6,977.77	
		MIXTURE PG 70-22 (SP125C MIX)			13	Sep 2, 2021	coram	\$955.29	
				ACAD - Tota	al			\$7,933.06	
			Other Item Adj	justment - To	tal			\$7,933.06	
			Overrun	Overrun	13	Sep 2, 2021	SYSTEM	(\$10,620.17)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$10,620.17)	
			Overrun - Tota	ıl				(\$10,620.17)	
			Price FUEL		12	Aug 16, 2021	SYSTEM	\$6,187.48	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					13	Sep 2, 2021	SYSTEM	\$847.10	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$7,034.58	
			Price FUEL - T	otal				\$7,034.58	
	0130 -	Total						\$4,347.47	
	0140	ASPHALTIC CONCRETE	Other Item Adjustment	ACAD	12	Aug 17, 2021	coram	\$1,857.32	
		MIXTURE PG 70-22 (SP1		ACAD - Total				\$1,857.32	
		,	Other Item Adj	justment - To	tal			\$1,857.32	



Oct 7, 2021

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks			
Project	Line	Description	Туре	Adjustment Type	Number	Date	By	Amount	reindiks			
J5P3199	0140	ASPHALTIC CONCRETE	Overrun	Overrun	12	Aug 16, 2021	SYSTEM	(\$5,153.83)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
		MIXTURE PG 70-22 (SP1		Overrun - To	otal			(\$5,153.83)				
			Overrun - Tota	al				(\$5,153.83)				
			Price FUEL		12	Aug 16, 2021	SYSTEM	\$1,904.30	Reference Item Price Adjustment Index Adjustment Type applied is FUEL			
				- Total				\$1,904.30				
			Price FUEL - T	fotal				\$1,904.30				
	0140 -	Total						(\$1,392.21)				
	0150	MISC.	Material		12	Aug 16, 2021	SYSTEM	(\$12,614.48)				
				- Total				(\$12,614.48)				
			Material - Tota	al				(\$12,614.48)				
			MaterialCredit		13	Sep 2, 2021	SYSTEM	\$12,614.48				
				- Total				\$12,614.48				
			MaterialCredit	: - Total				\$12,614.48				
	0150 -		Madagiat		0	h.m. 00	OVOTEL	\$0.00	This allochemical floate the existence of the second second			
	0160	TACK COAT	Material		9	Jun 30, 2021	SYSTEM	\$824.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user coram overridding Payment Estimate Exception 5 on the current Payment Estimate.			
					9	Jun 30, 2021	SYSTEM	(\$824.00)				
					10	Jul 16, 2021	SYSTEM	\$824.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user coram overridding Payment Estimate Exception 6 on the current Payment Estimate.			
					10	Jul 16, 2021	SYSTEM	(\$824.00)				
				- Total				\$0.00				
			Material - Tota	ıl				\$0.00				
			Overrun	Overrun	12	Aug 16, 2021	SYSTEM	(\$2,304.00)				
					13	Sep 2, 2021	SYSTEM	(\$590.00)				
				Overrun - T	otal			(\$2,894.00)				
	0160 -	Total	Overrun - Tota	41				(\$2,894.00)				
	0160 -	FURN. TYPE 2	Material		11	Aug 3,	SYSTEM	(\$2,894.00) \$1,060.25	This adjustment offsets the original system-generated Material Payment			
		ROCK DITCH LINER				2021		(Estimate Item Adjustment (0009) due to user coram overridding Payment Estimate Exception 7 on the current Payment Estimate.			
					11	Aug 3, 2021	SYSTEM	(\$1,060.25)				
					12	Aug 16, 2021	SYSTEM	\$1,060.25	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user coram overridding Payment Estimate Exception 5 on the current Payment Estimate.			
					12	Aug 16, 2021	SYSTEM	(\$1,060.25)				
					13	Sep 2, 2021	SYSTEM	\$4,975.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0030) due to user coram overridding Payment Estimate Exception 4 on the current Payment Estimate.			
					13	Sep 2, 2021	SYSTEM	(\$4,975.00)				
				14		1	1	1	14	Sep 17, 2021	SYSTEM	\$4,975.00
						14	Sep 17, 2021	SYSTEM	(\$4,975.00)			
					15	Sep 30, 2021	SYSTEM	\$4,975.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user coram overridding Payment Estimate Exception 3 on the current Payment Estimate.			
					15	Sep 30, 2021	SYSTEM	(\$4,975.00)				
				- Total				\$0.00				



Oct 7, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3199	0170	FURN. TYPE 2 ROCK DITCH LINER	Material - Tota	I				\$0.00	
	0170 -	Total						\$0.00	
	0200	CONSTRUCTION SIGNS	Material		2	Mar 16, 2021	SYSTEM	(\$1,671.00)	
				- Total				(\$1,671.00)	
			Material - Tota	I				(\$1,671.00)	
			MaterialCredit		3	Apr 2, 2021	SYSTEM	\$1,671.00	
				- Total				\$1,671.00	
			MaterialCredit	- Total				\$1,671.00	
		Total						\$0.00	
	0240	CMS WITH COMMUNICATION INTERFACE,	Material	T -4-1	2	Mar 16, 2021	SYSTEM	(\$18,600.00)	
		CONT F	Madaulal Tata	- Total				(\$18,600.00)	
			Material - Tota		2	An= 0	OVOTEM	(\$18,600.00)	
			MaterialCredit		3	Apr 2, 2021	SYSTEM	\$18,600.00	
				- Total				\$18,600.00	
			MaterialCredit	- Total				\$18,600.00	
	0240 -	Total						\$0.00	
	0250	TEMPORARY LONG-TERM RUMBLE STRIPS	Material		9	Jun 30, 2021	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user coram overridding Payment Estimate Exception 6 on the current Payment Estimate.
					9	Jun 30, 2021	SYSTEM	(\$4,000.00)	
					10	Jul 16, 2021	SYSTEM	(\$4,000.00)	
					11	Aug 3, 2021	SYSTEM	(\$4,000.00)	
					12	Aug 16, 2021	SYSTEM	\$4,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user coram overridding Payment Estimate Exception 6 on the current Payment Estimate.
					12	Aug 16, 2021	SYSTEM	(\$4,000.00)	
				- Total				(\$8,000.00)	
			Material - Tota	1				(\$8,000.00)	
			MaterialCredit		11	Aug 3, 2021	SYSTEM	\$4,000.00	
					12	Aug 16, 2021	SYSTEM	\$4,000.00	
				- Total				\$8,000.00	
			MaterialCredit	- Total				\$8,000.00	
	0250 -	Total						\$0.00	
	0430	CLASS B-1 CONCRETE	Material		4	Apr 18, 2021	SYSTEM	(\$20,800.00)	
		(CULVERTS- BRIDGE)			5	May 3, 2021	SYSTEM	\$20,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user coram overridding Payment Estimate Exception 13 on the current Payment Estimate.
					5	May 3, 2021	SYSTEM	(\$20,800.00)	
					6	May 18, 2021	SYSTEM	\$20,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user coram overridding Payment Estimate Exception 2 on the current Payment Estimate.
					6	May 18, 2021	SYSTEM	(\$20,800.00)	
				- Total				(\$20,800.00)	
			Material - Tota					(\$20,800.00)	
			MaterialCredit		5	May 3, 2021	SYSTEM	\$20,800.00	
				- Total				\$20,800.00	



Oct 7, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3199	0430	CLASS B-1 CONCRETE (CULVERTS- BRIDGE)	MaterialCredit	- Total				\$20,800.00	
	0430 -	Total						\$0.00	
	0440	REINFORCING STEEL	Material		4	Apr 18, 2021	SYSTEM	(\$4,880.00)	
		(CULVERTS- BRIDGE)		- Total				(\$4,880.00)	
			Material - Tota					(\$4,880.00)	
			MaterialCredit		5	May 3, 2021	SYSTEM	\$4,880.00	
				- Total				\$4,880.00	
			MaterialCredit	- Total				\$4,880.00	
	0440 -	Total						\$0.00	
	0450	15 IN. PIPE CULVERT GROUP C	Material		15	Sep 30, 2021	SYSTEM	\$1,890.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user coram overridding Payment Estimate Exception 8 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$1,890.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0450 -	Total						\$0.00	
	0500	15 IN. GROUP C FLARED END SEC	Material		15	Sep 30, 2021	SYSTEM	\$800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user coram overridding Payment Estimate Exception 9 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$800.00)	
				- Total				\$0.00	
			Material - Tota	I				\$0.00	
	0500 -	Total						\$0.00	
	0510	SEEDING - COOL SEASON MIXTURES	Material		14	Sep 17, 2021	SYSTEM	\$11,025.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user ahlboc1 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					14	Sep 17, 2021	SYSTEM	(\$11,025.00)	
					15	Sep 30, 2021	SYSTEM	\$11,025.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user coram overridding Payment Estimate Exception 10 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$11,025.00)	
				- Total				\$0.00	
			Material - Tota	l				\$0.00	
			Overrun	Overrun	14	Sep 17, 2021	SYSTEM	\$6,125.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) overridding Payment Estimate Exception 19 on the current Payment Estimate. Material Insufficiency Quantity 4.500; Overrun Quantity Balance 2.50.
					14	Sep 17, 2021	SYSTEM	(\$6,125.00)	
					15	Sep 30, 2021	SYSTEM	(\$6,125.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					15	Sep 30, 2021	SYSTEM	\$6,125.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) overridding Payment Estimate Exception 22 on the current Payment Estimate. Material Insufficiency Quantity 4.500; Overrun Quantity Balance 2.50.
				Overrun - To	otal			\$0.00	
			Overrun - Tota					\$0.00	
	0510 -	Total						\$0.00	
	0550	SEDIMENT TRAP ROCK	Material		4	Apr 18, 2021	SYSTEM	(\$137.50)	
				- Total				(\$137.50)	
			Material - Tota					(\$137.50)	
			MaterialCredit		5	May 3, 2021	SYSTEM	\$137.50	



Oct 7, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
5P3199	0550	SEDIMENT TRAP	MaterialCredit	- Total				\$137.50	
		ROCK	MaterialCredit	- Total				\$137.50	
	0550 -	Total						\$0.00	
	0570	ALTERNATE DITCH CHECK	Overrun	Overrun	13	Sep 2, 2021	SYSTEM	(\$680.00)	
				Overrun - T	otal			(\$680.00)	
			Overrun - Tota	1				(\$680.00)	
	0570 -	Total						(\$680.00)	
	0600	SILT FENCE	Overrun	Overrun	6	May 18, 2021	SYSTEM	(\$958.00)	
					9	Jun 30, 2021	SYSTEM	\$958.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.00000 - 2.00000, 'is applied (if non-zero).
					12	Aug 16, 2021	SYSTEM	(\$296.00)	
				Overrun - T	otal	1		(\$296.00)	
			Overrun - Tota					(\$296.00)	
	0600 -	Total						(\$296.00)	
	0610	TYPE 1D EROSION CONTROL	Material		15	Sep 30, 2021	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user coram overridding Payment Estimate Exception 12 on the current Payment Estimate.
		BLANKET			15	Sep 30, 2021	SYSTEM	(\$2,200.00)	
				- Total		1		\$0.00	
			Material - Tota					\$0.00	
			Overrun	Overrun	15	Sep 30, 2021	SYSTEM	\$800.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) overridding Payment Estimate Exception 23 on the current Payment Estimate. Material Insufficiency Quantity 880.000; Overrun Quantity Balance 320.00.
					15	Sep 30, 2021	SYSTEM	(\$800.00)	
				Overrun - T	otal			\$0.00	
			Overrun - Tota					\$0.00	
	0610 -	Total						\$0.00	
	0620	MGS GUARDRAIL	Construction Stockpile		14	Sep 17, 2021	SYSTEM	(\$8,929.80)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$8,929.80)	
			Construction S	Stockpile - To	otal			(\$8,929.80)	
			Construction Stockpile STMI		1	Mar 1, 2021	SYSTEM	\$8,929.80	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$8,929.80	
			Construction S Overrun	Stockpile STI Overrun		Sep 17,	SYSTEM	\$8,929.80 (\$10,752.00)	
				Overrun - T	otal	2021		(\$10,752.00)	
			Overrun - Tota					(\$10,752.00)	
	0620 -	Total						(\$10,752.00)	
	0630	TYPE A CRASHWORTHY	Construction Stockpile		14	Sep 17, 2021	SYSTEM	(\$6,224.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		END TERMINAL (MASH)		- Total				(\$6,224.00)	
			Construction S	Stockpile - To	otal			(\$6,224.00)	
			Construction Stockpile STMI		1	Mar 1, 2021	SYSTEM	\$6,224.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			311111	- Total				\$6,224.00	
			Construction S	Stockpile STI	/II - Total			\$6,224.00	
	0630 -	Total						\$0.00	
	0660	SIGNAL HEAD, TYPE 1T	Material		15	Sep 30, 2021	SYSTEM	\$2,800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user coram overridding Payment Estimate Exception 13 on the current Payment Estimate.



Oct 7, 2021

oject	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
3199	0660	SIGNAL HEAD,	Material	Туре	15	Sep 30,	SYSTEM	(\$2,800.00)	
		TYPE 1T				2021			
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0660 -		Material		44	0 47	OVOTEM	\$0.00	
	0670	DETECTOR, VEHICLE INDUCTION LOOP	Material		14	Sep 17, 2021	SYSTEM	(\$250.00)	
		(2 CHAN			15	Sep 30, 2021	SYSTEM	\$250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user coram overridding Payment Estimate Exception 14 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$250.00)	
				- Total				(\$250.00)	
			Material - Tota	al				(\$250.00)	
			MaterialCredit		15	Sep 30, 2021	SYSTEM	\$250.00	
				- Total				\$250.00	
			MaterialCredit	t - Total				\$250.00	
	0670 -	Total						\$0.00	
	0720	CONDUIT, 1 1/4 IN., EXTNAL ON STRUCTURE	Material		15	Sep 30, 2021	SYSTEM	\$1,080.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coram overridding Payment Estimate Exception 15 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$1,080.00)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
- 1	0720 -	Total						\$0.00	
	0740	CABLE, LOOP DETECTOR, IN DUCT	Material		15	Sep 30, 2021	SYSTEM	\$3,108.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user coram overridding Payment Estimate Exception 16 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$3,108.60)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
			Overrun	Overrun	15	Sep 30, 2021	SYSTEM	\$732.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) overridding Payment Estimate Exception 2 on the current Payment Estimate. Material Insufficiency Quantity 628.000; Overrun Quantity Balance 148.00.
					15	Sep 30, 2021	SYSTEM	(\$732.60)	
				Overrun - T	otal			\$0.00	
			Overrun - Tot	al				\$0.00	
- 1	0740 -	Total						\$0.00	
	0750	CABLE, LOOP DETECTOR, LEAD-IN	Material		15	Sep 30, 2021	SYSTEM	\$943.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user coram overridding Payment Estimate Exception 17 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$943.50)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0750 -	Total						\$0.00	
	0760	POWER SUPPLY ASSEMBLY, TYPE 2	Material		15	Sep 30, 2021	SYSTEM	\$2,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user coram overridding Payment Estimate Exception 18 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$2,600.00)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0760 -	Total						\$0.00	
	0770	MISC.	Material		15	Sep 30, 2021	SYSTEM	\$3,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user coram overridding Payment Estimate Exception 19 on the current Payment Estimate.



Oct 7, 2021

Devicest	Line	Description	A dia state and	Othern	F -4	Onestad	Orestad	A	Deresela
Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3199	0770	MISC.	Material		15	Sep 30, 2021	SYSTEM	(\$3,700.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0770 -	Total					_	\$0.00	
	0780	MISC.	Material		15	Sep 30, 2021	SYSTEM	\$10,165.70	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user coram overridding Payment Estimate Exception 21 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$10,165.70)	
				- Total				\$0.00	
			Material - Tota	l				\$0.00	
	0780 -							\$0.00	
	0790	CONCRETE FOOTINGS, EMBEDDED	Material		14	Sep 17, 2021	SYSTEM	(\$4,320.00)	
				- Total				(\$4,320.00)	
			Material - Tota		45	0	0)/0777	(\$4,320.00)	
			MaterialCredit		15	Sep 30, 2021	SYSTEM	\$4,320.00	
				- Total				\$4,320.00	
			MaterialCredit	- Total				\$4,320.00	
	0790 -	Total						\$0.00	
	0810	BREAKAWAY ASSEMBLY (PERFORATED	Construction Stockpile		14	Sep 17, 2021	SYSTEM	(\$648.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		SQUARE STEEL		- Total				(\$648.00)	
		TUBE)	Construction	Stockpile - To	otal			(\$648.00)	
			Construction Stockpile STMI		7	Jun 2, 2021	SYSTEM	\$648.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$648.00	
			Construction	Stockpile STI	MI - Total			\$648.00	
			Material		14	Sep 17, 2021	SYSTEM	(\$1,000.00)	
				- Total				(\$1,000.00)	
			Material - Tota					(\$1,000.00)	
			MaterialCredit		15	Sep 30, 2021	SYSTEM	\$1,000.00	
				- Total				\$1,000.00	
			MaterialCredit	- Total				\$1,000.00	
	0810 -							\$0.00	
	0820	2.5 IN. PSST POST - 12 GA.	Construction Stockpile	*	14	Sep 17, 2021	SYSTEM	,	Payment Estimate Item Adjustment generated Stockpile Transaction
			0	- Total				(\$890.56)	
			Construction Construction Stockpile	Stockpile - To	otal 7	Jun 2, 2021	SYSTEM	(\$890.56) \$890.56	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total		2021		\$890.56	
			Construction		MI - Total			\$890.56	
			Material		14	Sep 17,	SYSTEM	(\$2,816.00)	
						2021			
				- Total				(\$2,816.00)	
			Material - Tota	ı				(\$2,816.00)	
			MaterialCredit		15	Sep 30, 2021	SYSTEM	\$2,816.00	
				- Total				\$2,816.00	
			MaterialCredit	- Total				\$2,816.00	
	0820 -		O an at a ii		44	0 17	OVOTEN	\$0.00	
	0830	POST ANCHOR FOR 2.5 IN. PSST	Construction Stockpile		14	Sep 17, 2021	SYSTEM	(\$593.19)	Payment Estimate Item Adjustment generated Stockpile Transaction



Oct 7, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3199	0830	- 7 GA.	Construction Stockpile	- Total				(\$593.19)	
			Construction	l Stockpile - To	otal			(\$593.19)	
			Construction Stockpile		7	Jun 2, 2021	SYSTEM	\$725.01	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$725.01	
			Construction		MI - Total			\$725.01	
			Material		14	Sep 17, 2021	SYSTEM	(\$810.00)	
				- Total				(\$810.00)	
			Material - Tota	ıl				(\$810.00)	
			MaterialCredit		15	Sep 30, 2021	SYSTEM	\$810.00	
				- Total				\$810.00	
			MaterialCredit	- Total				\$810.00	
	0830 -	- Total						\$131.82	
	0840	SH-FLAT SHEET	Construction Stockpile		14	Sep 17, 2021	SYSTEM	(\$809.60)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$809.60)	
			Construction	Stockpile - To	otal			(\$809.60)	
			Construction Stockpile STMI		7	Jun 2, 2021	SYSTEM	\$1,091.20	Payment Estimate Item Adjustment generated Stockpile Transaction
			51111	- Total				\$1,091.20	
			Construction	Stockpile ST	MI - Total			\$1,091.20	
	0840 -	Total						\$281.60	
	0850	SHF-FLAT SHEET FLUORESCENT	Construction Stockpile		15	Sep 30, 2021	SYSTEM	(\$2,058.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,058.00)	
			Construction S	Stockpile - To	otal			(\$2,058.00)	
			Construction Stockpile STMI		7	Jun 2, 2021	SYSTEM	\$2,058.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$2,058.00	
			Construction	Stockpile STI	MI - Total			\$2,058.00	
1550 (00	0850 -	· Total						\$0.00	
J5P3199 - J5P3272	0885	SHAPING	Overrun	Overrun	14	Sep 17,	SYSTEM	\$18,839.92 (\$1,215.00)	
		SLOPES, CLASS	Overrun - T		2021 Dtal			(\$1,215.00)	
			Overrun - Tota	al				(\$1,215.00)	
	0885 -	Total						(\$1,215.00)	
	0890	MISC. AGGREGATE FOR BASE	Material		11	Aug 3, 2021	SYSTEM	\$29,271.32	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coram overridding Payment Estimate Exception 3 on the current Payment Estimate.
		TONDAGE			11	Aug 3, 2021	SYSTEM	(\$29,271.32)	Connect Elegence of the content of generic Estimate.
					12	Aug 16, 2021	SYSTEM	\$105,659.95	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user coram overridding Payment Estimate Exception 2 on the current Payment Estimate.
					12	Aug 16, 2021	SYSTEM	(\$105,659.95)	, y
					13	Sep 2, 2021	SYSTEM	\$105,671.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0034) due to user coram overridding Payment Estimate Exception 2 on the current Payment Estimate.
					13	Sep 2, 2021	SYSTEM	(\$105,671.69)	. ,
					14	Sep 17, 2021	SYSTEM	\$105,671.69	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user ahlboc1 overridding Payment
									Estimate Exception 2 on the current Payment Estimate.



Oct 7, 2021

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
J5P3272	0890	MISC.	Material	Type - Total				\$0.00	
		AGGREGATE FOR BASE	Material - Tota					\$0.00	
	0890 -	Total						\$0.00	
	0910	BIT. PAVEMENT	Other Item	ACAD	10	Jul 16,	coram	\$3,397.23	
		MIXTURE PG64-22 (BP-1)	Adjustment		11	2021 Aug 3,	coram	\$558.52	(correction)This item should have been on estimate 10.
					11	2021 Aug 3,	coram	\$15,569.53	
					12	2021 Aug 17,	coram	\$2,263.64	
				ACAD - Tota		2021	coram		
								\$21,788.92	
			Other Item Ad					\$21,788.92	
			Overrun	Overrun		Aug 16, 2021	SYSTEM	(\$76.19)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - Total				(\$76.19)	
			Overrun - Tota	1				(\$76.19)	
			Price FUEL		10	Jul 16, 2021	SYSTEM	\$4,134.32	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					11	Aug 3, 2021	SYSTEM	\$19,627.31	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					12	Aug 16, 2021	SYSTEM	\$2,560.99	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$26,322.62	
			Price FUEL - T	otal				\$26,322.62	
	0910 -	Total						\$48,035.35	
	0920	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BAS	Material		9	Jun 30, 2021	SYSTEM	\$117,078.03	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user coram overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Jun 30, 2021	SYSTEM	(\$117,078.03)	
					10	Jul 16, 2021	SYSTEM	\$117,078.03	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0014) due to user coram overridding Payment Estimate Exception 4 on the current Payment Estimate.
					10	Jul 16, 2021	SYSTEM	(\$117,078.03)	
				- Total		1		\$0.00	
			Material - Tota					\$0.00	
			Other Item Adjustment	ACAD	4	Apr 19, 2021	coram	\$1,378.24	
			Aujustment		5	May 3, 2021	brookw1	\$1,485.42	AC Adjustment
				ACAD - Tota	al			\$2,863.66	
			Other Item Ad					\$2,863.66	
			Overrun	Overrun		May 3, 2021	SYSTEM	(\$14,450.04)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Jun 30, 2021	SYSTEM	\$14,450.04	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',67.79918 - 65.21000, 'is applied (if non-zero).
				Overrun - To	otal			\$0.00	
			Overrun - Tota					\$0.00	
			Price FUEL		4	Apr 18, 2021	SYSTEM	\$2,237.30	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					5	May 3, 2021	SYSTEM	\$2,411.42	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Jun 30, 2021	SYSTEM	(\$0.09)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$4,648.63	
			Price FUEL - T						
	09 <u>20</u> -	- Total						\$4,648.63 \$7,512.29	
	0930	ASPHALTIC	Material		7	Jun 2,	SYSTEM	\$598,959.50	This adjustment offsets the original system-generated Material Payment
						,			,



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks											
J5P3272	0930	CONCRETE MIXTURE PG	Material			2021			Estimate Item Adjustment (0014) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.											
		70-22 (SP125C MIX)			7	Jun 2, 2021	SYSTEM	(\$598,959.50)												
					8	Jun 16, 2021	SYSTEM	\$1,211,854.59	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user coram overridding Payment Estimate Exception 3 on the current Payment Estimate.											
					8	Jun 16, 2021	SYSTEM	(\$1,211,854.59)												
					9	Jun 30, 2021	SYSTEM	\$1,238,663.74	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user coram overridding Payment Estimate Exception 4 on the current Payment Estimate.											
					9	Jun 30, 2021	SYSTEM	(\$1,238,663.74)												
					10	Jul 16, 2021	SYSTEM	\$1,660,753.41	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user coram overridding Payment Estimate Exception 5 on the current Payment Estimate.											
					10	Jul 16, 2021	SYSTEM	(\$1,660,753.41)												
					11	Aug 3, 2021	SYSTEM	\$2,099,854.86	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0019) due to user coram overridding Payment Estimate Exception 5 on the current Payment Estimate.											
					11	Aug 3, 2021	SYSTEM	(\$2,099,854.86)												
				- Total				\$0.00												
			Material - Tota					\$0.00												
			Other Item Adjustment	ACAD	6	May 18, 2021	coram	\$12,081.61	AC Adjustment											
					7	Jun 2, 2021	coram	\$14,698.28	AC Adjustment											
					8	Jun 17, 2021	coram	\$34,507.44	AC Adjustment											
					9	Jun 30, 2021	coram	\$1,509.42												
					10	Jul 16, 2021	coram	\$25,512.04												
					11	Aug 3, 2021	coram	\$26,540.27												
					12	Aug 17, 2021	coram	\$595.66												
					13	Sep 2, 2021	coram	\$67.26												
				ACAD - Tota	al			\$115,511.98												
			Other Item A	djustment - To	otal			\$115,511.98												
			Price FUEL		6	May 18, 2021	SYSTEM	\$2,136.03	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
					6	May 18, 2021	SYSTEM	\$14,292.86	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
					7	Jun 2, 2021	SYSTEM	\$19,987.11	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
																8	Jun 16, 2021	SYSTEM	\$37,659.68	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					9	Jun 30, 2021	SYSTEM	\$1,647.30	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
					10	Jul 16, 2021	SYSTEM	\$26,481.54	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
					11	Aug 3, 2021	SYSTEM	\$27,548.84	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
					12	Aug 16, 2021	SYSTEM	\$528.20	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
					13	Sep 2, 2021	SYSTEM	\$59.65	Reference Item Price Adjustment Index Adjustment Type applied is FUEL											
				- Total				\$130,341.21												
			Price FUEL - T	otal				\$130,341.21												



Oct 7, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5P3272	0930 -	Total						\$245,853.19	
	0940	TACK COAT	Material		4	Apr 19, 2021	SYSTEM	\$726.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0021) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Apr 18, 2021	SYSTEM	(\$726.00)	
					5	May 3, 2021	SYSTEM	\$1,064.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0026) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	May 3, 2021	SYSTEM	(\$1,064.00)	
					6	May 18, 2021	SYSTEM	\$242.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user coram overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	May 18, 2021	SYSTEM	(\$242.00)	
					7	Jun 2, 2021	SYSTEM	\$242.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user coram overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	Jun 2, 2021	SYSTEM	(\$242.00)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0940 -	Total						\$0.00	
	1080	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Material		13	Sep 2, 2021	SYSTEM	\$46,312.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0032) due to user coram overridding Payment Estimate Exception 5 on the current Payment Estimate.
		PAINI			13	Sep 2, 2021	SYSTEM	(\$46,312.60)	
					14	Sep 17, 2021	SYSTEM	\$46,312.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user ahlboc1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					14	Sep 17, 2021	SYSTEM	(\$46,312.60)	
					15	Sep 30, 2021	SYSTEM	\$46,312.60	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0024) due to user coram overridding Payment Estimate Exception 4 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$46,312.60)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	1080 -	Total				_		\$0.00	
	1090	6 IN. YELLOW HIGH BUILD WATERBORNE	Material		13	Sep 2, 2021	SYSTEM	\$24,458.72	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0033) due to user coram overridding Payment Estimate Exception 7 on the current Payment Estimate.
		PAINT			13	Sep 2, 2021	SYSTEM	(\$24,458.72)	
					14	Sep 17, 2021	SYSTEM	\$24,458.72	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0018) due to user ahlboc1 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					14	Sep 17, 2021	SYSTEM	(\$24,458.72)	
					15	Sep 30, 2021	SYSTEM	\$24,458.72	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user coram overridding Payment Estimate Exception 6 on the current Payment Estimate.
					15	Sep 30, 2021	SYSTEM	(\$24,458.72)	
				- Total				\$0.00	
			Material - Tota	1				\$0.00	
	1090 -	Total						\$0.00	
	1110	COLDMILLING BIT. PAVT FOR	Overrun	Overrun	11	Aug 3, 2021	SYSTEM	(\$29,729.04)	
		REM OF SURF.		Overrun - T	otal			(\$29,729.04)	
			Overrun - Tota	al				(\$29,729.04)	
	1110 -	Total						(\$29,729.04)	



Oct 7, 2021

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Туре	Adjustment Type	Number	Date	Ву		
J5P3272	1170	MGS GUARDRAIL	Construction Stockpile		13	Sep 2, 2021	SYSTEM	(\$4,235.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					14	Sep 17, 2021	SYSTEM	(\$4,235.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$8,470.00)	
			Construction S	Stockpile - To	otal			(\$8,470.00)	
			Construction Stockpile		1	Mar 1, 2021	SYSTEM	\$8,470.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$8,470.00	
			Construction S	Stockpile STN	/II - Total			\$8,470.00	
	1170 -	Total						\$0.00	
	1180	MGS BRIDGE APP. TRANS SEC	Construction Stockpile		13	Sep 2, 2021	SYSTEM	(\$6,232.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(REG/NO CURB)			14	Sep 17, 2021	SYSTEM	(\$6,232.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$12,464.00)	
			Construction S		[otal			(\$12,464.00)	
			Construction Stockpile		1	Mar 1, 2021	SYSTEM	\$12,464.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total		2021		\$12,464.00	
			Construction		AL Total			\$12,464.00	
	4400	T -4-1	Construction	Stockpile ST	ni - Totai				
	1180 -		-					\$0.00	
	1190	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		13	Sep 2, 2021	SYSTEM	(\$6,224.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)			14	Sep 17, 2021	SYSTEM	(\$6,224.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$12,448.00)	
			Construction S	Stockpile - To	otal			(\$12,448.00)	
			Construction Stockpile STMI		1	Mar 1, 2021	SYSTEM	\$12,448.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$12,448.00	
			Construction S	Stockpile STN	Al - Total			\$12,448.00	
	1190 -	Total						\$0.00	
	1200	MISC.	Material		13	Sep 2, 2021	SYSTEM	\$9,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0022) due to user coram overridding Payment Estimate Exception 9 on the current Payment Estimate.
					13	Sep 2, 2021	SYSTEM	(\$9,200.00)	
					14	Sep 17, 2021	SYSTEM	(\$9,200.00)	
					15	Sep 30, 2021	SYSTEM	\$9,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0028) due to user coram overridding Payment
					15	Sep 30,	SYSTEM	(\$9,200.00)	Estimate Exception 20 on the current Payment Estimate.
				- Total		2021		(\$9,200.00)	
			Material - Tota					(\$9,200.00)	
			MaterialCredit		15	Sep 30, 2021	SYSTEM	\$9,200.00	
				- Total				\$9,200.00	
			MaterialCredit					\$9,200.00	
					13	Sep 2,	SYSTEM	\$9,200.00	This adjustment offsets the original system-generated Overrun Payment
			Overrun	Overrun	15	2021	STOTEM	φ4,000.00	Estimate liter Adjustment (0021) overridding Payment Estimate Exception 16 on the current Payment Estimate. Material Insufficiency Quantity 4.000; Overrun Quantity Balance 2.00.
					13	Sep 2, 2021	SYSTEM	(\$4,600.00)	
					14	Sep 17, 2021	SYSTEM	(\$4,600.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					14	Sep 17, 2021	SYSTEM	\$4,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) overridding Payment Estimate Exception 21 on the current Payment Estimate. Material Insufficiency Quantity 4.000;



Oct 7, 2021

n'n' is is is is is is is in the number of th	Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
32837 100 100 0erm	Filgeol	LINE	Description		Adjustment				Amount	Itelliaites
Provide Proceedings of the procession of th	1502070	1000	MISC	0						Quartur Quartitu Balance 2.00
Image: Provide the section of the section o	J5P3272	1200	MISC.	Overrun	Overrun				(
Image: state in the						15		SYSTEM	(\$4,600.00)	
No. Outcome of the second						15		SYSTEM	\$4,600.00	Estimate Item Adjustment (0026) overridding Payment Estimate Exception 25 on the current Payment Estimate. Material Insufficiency Quantity 4.000;
120					Overrun - To	otal			\$0.00	
12.0 ULCHANNE, POST, 3.1 Construction in Control Sockpin - Total				Overrun - Tota	al				\$0.00	
Image: POST 3.18 Sockapie		1200 -	Total						\$0.00	
Image: standard		1210				14		SYSTEM	(\$5,716.48)	Payment Estimate Item Adjustment generated Stockpile Transaction
Non-Participant Part Part Part Part Part Part Part Par					- Total				(\$5,716.48)	
Image: state in the				Construction	Stockpile - Tc	otal			(\$5,716.48)	
STMI						7		SYSTEM	\$5,716.48	Payment Estimate Item Adjustment generated Stockpile Transaction
Image: second							2021			
Normal Problem Normal										
Nome Nome <t< td=""><td></td><td rowspan="3"></td><td></td><td></td><td>Stockpile STM</td><td></td><td></td><td></td><td></td><td></td></t<>					Stockpile STM					
Image: bit is a starting in the starti				Material		14		SYSTEM	\$32,384.00	Estimate Item Adjustment (0027) due to user ahlboc1 overridding Payment
140 140 140 140 120 141 120 141 120 141 120 141 120 141 120 141 120 141 120 141 120 141 120 141 120						14		SYSTEM	(\$32,384.00)	
1210 1210 <th< td=""><td></td><td></td><td></td><td></td><td>- Total</td><td>1</td><td></td><td></td><td>\$0.00</td><td></td></th<>					- Total	1			\$0.00	
1220 SHF-FLAT SHEET FLUORESCENT Construction Stockpile Construction - Total Construction - Total SYSTEN (\$2,681.40) Payment Estimate Item Adjustment generated Stockpile Transaction Construction Stockpile - Total (\$2,681.40) Payment Estimate Item Adjustment generated Stockpile Transaction STMI - Total SYSTEN \$2,681.40) Payment Estimate Item Adjustment generated Stockpile Transaction STMI - Total SYSTEN \$2,681.40) Payment Estimate Item Adjustment generated Stockpile Transaction STMI - Total STMI - Total \$2,681.40) Payment Estimate Item Adjustment generated Stockpile Transaction STMI - Total Construction Stockpile STMI \$2,681.40 Payment Estimate Item Adjustment generated Stockpile Transaction 1220 - Total Construction Stockpile Total Stockpile Stockpile Stockpile 1220 - Total Other Item Adjustment _ Total ACAD 1 May 18, 2021 Stockpile Stockpile 1220 - Total Other Item Adjustment _ Total ACAD - Stockpile Stockpile Stockpile 1353267 Total Ot				Material - Tota	al				\$0.00	
Image: Full of		1210 -	Total						\$0.00	
Image: base of the state of the st		1220				14		SYSTEM	(\$2,681.40)	Payment Estimate Item Adjustment generated Stockpile Transaction
Vertical Solution Construction Construction Construction Subscription Subscrip					- Total	1			(\$2,681.40)	
Image: base in the state in the s				Construction	Stockpile - Tc	otal			(\$2,681.40)	
Image: state in the				Stockpile		7		SYSTEM	\$2,681.40	Payment Estimate Item Adjustment generated Stockpile Transaction
Image: state				STMI	- Total				\$2,681.40	
5101 BITUMINOUS PAVEMENT PAVEMENT PG64-22 (BAS NUTURE PG64-22 (BAS				Construction	Stockpile STM	MI - Total			\$2,681.40	
PAVEMENT PG64-22 (BASAdjustment PG64-22 (BASAdjustment PG64-22 (BASAdjustment PG64-22 (BASAdAO - total 4×2021 GeneGeneGeneGeneGeneFUEL - totalFUEL - totalFUEL - total 5×53.62 This item was installed on the first pay period of April 2021JSS3267TotalFUEL - TotalSt1.65.20JSS3267MIXTURE PG64-22 (BP-1)Other Item Adjustment - TotalSt1.56.20JSS3267BIT. PAVEMENT PG64-22 (BP-1)Other Item Adjustment PG64-22 (BP-1)ACAD4April 9, 2021SoranJSS3267St1.5St1.56.20CorranACAD - totalSt2.51.65.20St2.51.65.20JSS3267Other Item Adjustment PG64-22 (BP-1)Other Item Adjustment PG64-22 (BP-1)ACAD - totalSt2.51.65.20JSS3267PG64-22 (BP-1)Other Item Adjustment PG64-22 (BP-1)ACAD - totalSt2.51.65.20JSS3267PG64-22 (BP-1)Other Item Adjustment PG64-22 (BP-1)ACAD - totalSt2.51.64.58Verrun - TotalQUE TOTALSt3.51.65St2.51.64.58Reference Item Price Adjustment Index Adjustment Type applied is FUELQUE TOTALVerrun - TotalSt3.51.65St3.50.75.73.60.01Overrun - TotalVerrun - TotalSt3.51.65St3.50.75.73.67.75.73.67.75.73.67.75.75.75.75.75.75.75.75.75.75.75.75.75		1220 -	Total						\$0.00	
PG64-22 (BAS ACAD -Total S402.68 FUEL of the relevance of the r		5101	PAVEMENT MIXTURE		ACAD	6		coram	\$402.58	This item was installed on the first pay period of April 2021
Vertication FUEL - Total Second State 501 - Total 5101 - Total 5101 - Total 5101 - Total 5101 - Total JSS3267 70tal Conter Item Adjustment - Total 5101 - Total 5271,512.99 JSS3267 714 Other Item Adjustment - Notal ACAD 4 Apr 19, 207 Second Registration JSS3267 724 BIT. PAVEMENT PG64-22 (BP-1) ACAD - Total ACAD - Total SYSTEM SYSTEM Overrun - Overrun - Overrun - Total Overrun - Total ACAD - Total SYSTEM SYSTEM SYSTEM Overrun - Total Overrun - Total Overrun - Total SYSTEM SYSTEM SYSTEM State Overrun - Total Overrun - Total Apr 18, 2021 SYSTEM State Reference Item Price Adjustment Index Adjustment Sof : S56.73960 - 54.15000, 'is applied (ff non-zero).					ACAD - Tota	al			\$402.58	
Image: bit is in the image: bit is								coram	\$653.62	This item was installed on the first pay period of April 2021
S101 - Total \$1,056.20 J5P3272 - Total \$271,512.99 J5S3267 1240 BIT. PAVEMENT MIXTURE PG64-22 (BP-1) Other Item Adjustment PG64-22 (BP-1) ACAD - Total \$4,948.01 Verrun - Total ACAD - Total \$4,948.01 Coram \$4,948.01 Overrun - Total Overrun - Total \$4,948.01 Overrun - Total \$4,948.01 Overrun - Total Overrun - Total \$4,948.01 Overrun - Total \$4,948.01 Overrun - Total Overrun - Total \$4,948.01 Overrun - Total \$4,948.01 Overrun - Total Overrun - Total \$4,948.01 Overrun - Total \$4,948.01 Overrun - Total Overrun - Total \$9,000 \$9,000 \$9,000 Overrun - Total \$9,010,00 \$9,000 \$25,164.58 Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustment of ;66.73960 - 54.15000, 'is previous payment estimates. Price Adjustment Index Adjustment Type applied is FUEL Overrun - Total \$0,000 \$25,164.58 Sefference Item Price Adjustment Index Adjustment Type applied is FUEL Image: Complex of the total struct in the tota					FUEL - Tota	l .			\$653.62	
J593272 - Total \$271,512.99 J553267 1240 BIT. PAVEMENT MIXTURE Adjustment Adjustment ACAD 4 APP 64-22 (BP-1) JOBER 1000000000000000000000000000000000000				Other Item Ad	justment - To	otal			\$1,056.20	
J5S3267 1240 BIT. PAVEMENT MIXTURE PG64-22 (BP-1) Other Item Mixture PG64-22 (BP-1) ACAD 4 Apr 19, 2021 coram \$4,948.01 Other Item Adjustment - Total 54,948.01 Other Item Adjustment - Total Overrun 0 0		5101 -	Total						\$1,056.20	
MIXTURE PG64-22 (BP-1) Adjustment Image: Mixture PG64-22 (BP-1) Adjustment Zold Zold Standard Verrun PG64-22 (BP-1) Addustment Verrun V Verrun V Standard Standard Standard Verrun PG64-22 (BP-1) Other Item Adjustment - TU Standard Standard Standard Standard Verrun PG64-22 (BP-1) Other Item Adjustment - TU Standard Standard Standard Standard Verrun PG64-22 (BP-1) Other Item Adjustment - TU Standard Standard Standard Standard Verrun PG64-22 (BP-1) Overrun Participation Standard Standard Standard Standard Verrun PG64-22 (BP-1) Price FUEL Image: Standard Standard Standard Standard Verrun PG64-22 (BP-1) Price FUEL Image: Standard Standard Standard Standard Verrun PG64-22 (BP-1) Image: Standard Standard Standard Standard Standard Verrun PG64-22 (BP-1) Image: Standard Standard Standard Standard Standard Verrun PG64-22 (BP-1) Image: Standard Standard Standard Standard Standard Verrun PG64-22 (BP-1) Image: Standard Standard Standard	J5P3272	Total							\$271,512.99	
ACAD - Total \$4,948.01 Other Item Adjustment - Total \$4,948.01 Overrun Overrun 4 Apr 18, 2021 SYSTEM (\$25,164.58) Reference Item Price Adjustment Index Adjustment Type applied is FUEL 9 Jun 30, 2021 SYSTEM \$25,164.58 Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',56.73960 - 54.15000, 'is applied (if non-zero). Overrun - Total \$0.00 Price FUEL 4 Apr 18, 2021 \$YSTEM \$8,033.47 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 9 Jun 30, SYSTEM \$8,033.47 Reference Item Price Adjustment Index Adjustment Type applied is FUEL	J5S3267	1240	MIXTURE		ACAD	4		coram	\$4,948.01	
Overrun Overrun 4 Apr 18, 2021 SYSTEM (\$25,164.58) Reference Item Price Adjustment Index Adjustment Type applied is FUEL 9 Jun 30, 2021 SYSTEM \$25,164.58 Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',56.73960 - 54.15000, 'is applied (if non-zero). Overrun - Total State \$0.00 \$0.00 Price FUEL 4 Apr 18, 2021 \$YSTEM \$8,033.47 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 9 Jun 30, SYSTEM \$0.00 Reference Item Price Adjustment Index Adjustment Type applied is FUEL			PG64-22 (BP-1)		ACAD - Tota	al			\$4,948.01	
viscous				Other Item Ad	justment - To	otal			\$4,948.01	
Overrun - Total \$0.00 Overrun - Total \$12021 Overrun - Total \$0.00 Price FUEL 4 Apr 18, 2021 \$12021 \$8,033.47 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 9 Jun 30, SYSTEM \$8,033.47 Reference Item Price Adjustment Index Adjustment Type applied is FUEL				Overrun	Overrun	4		SYSTEM	(\$25,164.58)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
Overrun - Total \$0.00 Price FUEL 4 Apr 18, 2021 \$YSTEM \$8,033.47 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 9 Jun 30, SYSTEM \$(\$0.03) Reference Item Price Adjustment Index Adjustment Type applied is FUEL						9		SYSTEM	\$25,164.58	previous payment estimates. Price Adjustments of ',56.73960 - 54.15000, 'is
Overrun - Total \$0.00 Price FUEL 4 Apr 18, 2021 \$YSTEM \$8,033.47 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 9 Jun 30, SYSTEM \$(\$0.00) Reference Item Price Adjustment Index Adjustment Type applied is FUEL					Over <u>run - T</u> o	otal			\$0.00	
Price FUEL 4 Apr 18, 2021 SYSTEM \$8,033.47 Reference Item Price Adjustment Index Adjustment Type applied is FUEL 9 Jun 30, SYSTEM (\$0.03) Reference Item Price Adjustment Index Adjustment Type applied is FUEL				Overrun - Tota						
9 Jun 30, SYSTEM (\$0.03) Reference Item Price Adjustment Index Adjustment Type applied is FUEL						4		SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL
						9	Jun 30,	SYSTEM	(\$0.03)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL



Oct 7, 2021

ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
267	1240	BIT. PAVEMENT MIXTURE	Price FUEL	- Total				\$8,033.44	
		PG64-22 (BP-1)	Price FUEL - 1	Total				\$8,033.44	
	1240 -	Total						\$12,981.45	
	1250	MISC. NON STANDARD TACK	Overrun	Overrun	4	Apr 18, 2021	SYSTEM	(\$1,263.60)	
		COAT			9	Jun 30, 2021	SYSTEM	\$1,263.60	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.70000 - 2.70000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	1250 -	Total						\$0.00	
	1260	TRUCK OR TRAILER MOUNTED ATTEN	Material		5	May 3, 2021	SYSTEM	\$800.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user coram overridding Payment Estimate Exception 3 on the current Payment Estimate.
		(TMA)			5	May 3, 2021	SYSTEM	(\$800.00)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	1260 -	Total						\$0.00	
ſ	1330	PREF THERMO PAVMT MARKING, 6 IN WHITE	Material		5	May 3, 2021	SYSTEM	\$401.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user coram overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	May 3, 2021	SYSTEM	(\$401.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	1330 -	Total						\$0.00	
ſ	1340	PREF THERMO PVMT MARK, 24 IN WHIT	RK, 24		5	May 3, 2021	SYSTEM	\$4,270.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user coram overridding Payment Estimate Exception 5 on the current Payment Estimate.
					5	May 3, 2021	SYSTEM	(\$4,270.00)	
				- Total	5		SYSTEM	(\$4,270.00) \$0.00	
			Material - Tota		5		SYSTEM		
			Material - Tota Overrun				SYSTEM	\$0.00	This adjustment offsets the original system-generated Overrun Payment
				al		2021 May 3,		\$0.00 \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000;
				al	5	2021 May 3, 2021 May 3,	SYSTEM	\$0.00 \$0.00 \$1,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00.
				al	5	2021 May 3, 2021 May 3, 2021 May 18,	SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				al	5 5 6 9	2021 May 3, 2021 May 3, 2021 May 18, 2021 Jun 30,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is
				al Overrun Overrun - T	5 5 6 9	2021 May 3, 2021 May 3, 2021 May 18, 2021 Jun 30,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00) \$1,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is
	1340 -	Total	Overrun	al Overrun Overrun - T	5 5 6 9	2021 May 3, 2021 May 3, 2021 May 18, 2021 Jun 30,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00) \$1,750.00 \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is
- 1	1340 - 1350	Total PREF THERMO PVMT MARK, LT/RT ARROW	Overrun	al Overrun Overrun - T	5 5 6 9	2021 May 3, 2021 May 3, 2021 May 18, 2021 Jun 30,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00) \$1,750.00 \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is
- 5		PREF THERMO PVMT MARK,	Overrun Overrun - Tota	al Overrun Overrun - T	5 5 6 9 otal	2021 May 3, 2021 May 3, 2021 May 18, 2021 Jun 30, 2021 May 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00) \$1,750.00 \$0.00 \$0.00 \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is applied (if non-zero). This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coram overridding Payment
1		PREF THERMO PVMT MARK,	Overrun Overrun - Tota	al Overrun Overrun - T	5 5 6 9 otal	2021 May 3, 2021 May 3, 2021 May 18, 2021 Jun 30, 2021 May 3, 2021 May 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00) \$1,750.00 \$0.00 \$0.00 \$1,500.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is applied (if non-zero). This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coram overridding Payment
1		PREF THERMO PVMT MARK,	Overrun Overrun - Tota	al Overrun al - Total	5 5 6 9 otal	2021 May 3, 2021 May 3, 2021 May 18, 2021 Jun 30, 2021 May 3, 2021 May 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00) \$1,750.00 \$0.00 \$0.00 \$0.00 \$1,500.00 (\$1,500.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is applied (if non-zero). This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coram overridding Payment
- 5		PREF THERMO PVMT MARK, LT/RT ARROW	Overrun Overrun - Tota Material	al Overrun al - Total	5 5 6 9 otal	2021 May 3, 2021 May 3, 2021 May 18, 2021 Jun 30, 2021 May 3, 2021 May 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00) \$1,750.00 \$0.00 \$0.00 \$1,500.00 (\$1,500.00) \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is applied (if non-zero). This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coram overridding Payment
	1350	PREF THERMO PVMT MARK, LT/RT ARROW	Overrun Overrun - Tota Material	al Overrun al - Total	5 5 6 9 otal	2021 May 3, 2021 May 3, 2021 May 18, 2021 Jun 30, 2021 May 3, 2021 May 3,	SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00) \$1,750.00 \$0.00 \$0.00 \$1,500.00 (\$1,500.00) (\$1,500.00) \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is applied (if non-zero). This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0013) due to user coram overridding Payment
	1350 1350 -	PREF THERMO PVMT MARK, LT/RT ARROW	Overrun - Tota Material Material - Tota	al Overrun al - Total	5 6 9 otal 5 5	2021 May 3, 2021 May 3, 2021 Jun 30, 2021 May 3, 2021 May 3, 2021 May 3, 2021	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$1,750.00 (\$1,750.00) (\$1,750.00) \$1,750.00 \$0.00 \$0.00 \$1,500.00 (\$1,500.00) \$0.00 \$0.00 \$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) overridding Payment Estimate Exception 18 on the current Payment Estimate. Material Insufficiency Quantity 122.000; Overrun Quantity Balance 50.00. Averaged Price Adjustment from this item on all previous payment estimates of '0.0000' is applied (if non-zero). Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',35.00000 - 35.00000, 'is applied (if non-zero). This adjustment offsets the original system-generated Material Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 6 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Exception 6 on the current Payment Estimate.



Oct 7, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3267	1360	PREF THERMO PVMT MARK, R/R XING	Material - Tota	l				\$0.00	
	1360 -	Total						\$0.00	
	1370	PREF THERMO PVMT MARK, 30" WHT MIDBL	Material		5	May 3, 2021	SYSTEM	\$1,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0015) due to user coram overridding Payment Estimate Exception 8 on the current Payment Estimate.
					5	May 3, 2021	SYSTEM	(\$1,200.00)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	1370 -	Total						\$0.00	
	1380	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		5	May 3, 2021	SYSTEM	\$2,578.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0016) due to user coram overridding Payment Estimate Exception 9 on the current Payment Estimate.
		WARKING			5	May 3, 2021	SYSTEM	(\$2,578.50)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	1380 -	Total				_		\$0.00	
	1390	4 IN. YELLOW WATERBORNE PAVEMENT	Material		5	May 3, 2021	SYSTEM	\$3,531.78	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0017) due to user coram overridding Payment Estimate Exception 11 on the current Payment Estimate.
		MARKING			5	May 3, 2021	SYSTEM	(\$3,531.78)	
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	1390 -	1390 - Total							
	1450	CURB INLET CHECK	Material		4	Apr 18, 2021	SYSTEM	(\$3,250.00)	
					5	May 3, 2021	SYSTEM	\$3,250.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0020) due to user coram overridding Payment Estimate Exception 15 on the current Payment Estimate.
					5	May 3, 2021	SYSTEM	(\$3,250.00)	
				- Total					
			Material - Tota	d				(\$3,250.00)	
			MaterialCredit		5	May 3, 2021	SYSTEM	\$3,250.00	
				- Total				\$3,250.00	
			MaterialCredit					\$3,250.00	
			Overrun	Overrun	4	Apr 18, 2021	SYSTEM	\$390.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) overridding Payment Estimate Exception 15 on the current Payment Estimate. Material Insufficiency Quantity 25.000; Overrun Quantity Balance 3.00.
					4	Apr 18, 2021	SYSTEM	(\$390.00)	
					5	May 3, 2021	SYSTEM	(\$390.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					5	May 3, 2021	SYSTEM	\$390.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) overridding Payment Estimate Exception 19 on the current Payment Estimate. Material Insufficiency Quantity 25.000; Overrun Quantity Balance 3.00.
					6	May 18, 2021	SYSTEM	(\$390.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					9	Jun 30, 2021	SYSTEM	\$390.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',130.00000 - 130.00000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	1450 -	Total						\$0.00	
	1480	MGS GUARDRAIL	Construction Stockpile		5	May 3, 2021	SYSTEM	(\$8,760.61)	Payment Estimate Item Adjustment generated Stockpile Transaction



Oct 7, 2021

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3267	1480	MGS GUARDRAIL	Construction Stockpile	туре	9	Jun 30, 2021	SYSTEM	(\$157.09)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$8,917.70)	
			Construction	Stockpile - To	otal			(\$8,917.70)	
			Construction Stockpile		1	Mar 1, 2021	SYSTEM	\$8,917.70	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$8,917.70	
			Construction	Stockpile STI	MI - Total			\$8,917.70	
	1480 -	Total						\$0.00	
	1490	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		5	May 3, 2021	SYSTEM	(\$6,232.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$6,232.00)	
			Construction	Stockpile - To	otal			(\$6,232.00)	
			Construction Stockpile STMI		1	Mar 1, 2021	SYSTEM	\$6,232.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$6,232.00	
			Construction	Stockpile STI	MI - Total			\$6,232.00	
	1490 -	Total						\$0.00	
	1500	MGS END ANCHOR	Construction Stockpile		5	May 3, 2021	SYSTEM	(\$554.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$554.00)	
			Construction	Stockpile - To	otal			(\$554.00)	
			Construction Stockpile STMI		1	Mar 1, 2021	SYSTEM	\$554.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$554.00	
			Construction	Stockpile STI	MI - Total			\$554.00	
		Total			-			\$0.00	
	1510	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		5	May 3, 2021	SYSTEM	(\$4,668.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(MASH)		- Total				(\$4,668.00)	
			Construction	Stockpile - To		Maria	0)(0751)	(\$4,668.00)	
			Construction Stockpile STMI		1	Mar 1, 2021	SYSTEM	\$4,668.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			Construction	- Total	MI Total			\$4,668.00	
	1540	Total	Construction	Stockpile ST	m - rotal			\$4,668.00	
	1510 -	MISC.	Motoric		5	May: 2	SYSTEM	\$0.00	This adjustment offects the original system apprected Material Development
	1520	MISC.	Material		5	May 3, 2021	SYSTEM	\$10,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0025) due to user coram overridding Payment Estimate Exception 16 on the current Payment Estimate.
					5	May 3, 2021	SYSTEM	(\$10,400.00)	
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
		Total						\$0.00	
J5S3267 -	Total							\$12,981.45	
Overall -	Total							\$303,334.36	